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CHAPTER

Coded Inequalities

DIRECTIONS (Qs. 1-5) : In the following questions, the symbols
@, $, *, # and 8 are used with the following meaning as
illustrated below :

(SBI PO 2010)
'P $ Q' means 'P is not smaller than Q'.
'P @ Q' means 'P is neither smaller than nor equal to Q'.
'P #Q'" means 'P is neither greater than nor equal to Q'.
'P 8 Q' means P is neither greater than nor smaller than Q'.
'P * Q' means 'P is not greater than Q'.
Now in each of the following questions assuming the given
statements to be true, find which of the four conclusions I, II, 111
and IV given below them is/are definitely true and give your
answer accordingly.
1. Statements:
H@T, T#F, FSE, Exv
Conclusions: I. V$F
ILE@T
ILH@V
VT#V
(@) Onlyl, Il and III are true
(b) Onlyl, Il and IV aretrue
(¢) Onlyll, Illand IV are true
(d) Onlyl, Illand IV are true
() AlNLII IandIV aretrue
2. Statements:
D#R, R*K, K@F, F$J
Conclusions: 1 J#R
II. J#K
IMl. R#F
N K@D
(@) Onlyl, Il and III are true
(b) Onlyll, Illand IV are true
(¢) Onlyl, Illand IV aretrue
(d) ANLIIandIV aretrue
(¢) None of these
3. Statements:
N&B,BSW,WH#H, H*M
Conclusions: 1. M@W
I. H@N
. WoN
V. W#N
(@) Onlylistrue
(b) OnlylIllis true
(¢) OnlylVistrue
(d) Onlyeither Il or IV is true
(¢) Onlyeither Il or IV and I are true
4. Statements :
R*D, D$J, J#M, M@K

Conclusions :
L K#J
I. D@M
. R#M
V. D@K
(@) Noneis true (b) Onlylistrue
(¢) OnlylIlistrue (d) OnlylIllistrue
(¢) OnlylVistrue
5. Statements :
M$K, K@N,N*R, R#W
Conclusions: 1 W@K
II. MSR
ILK@W
V. M@N
(@) Onlyland Il are true
(b) Onlyl, Il and I1I are true
(¢) Onlyllland IV aretrue
(d) Onlyll, Illand IV are true
(¢) None of these

DIRECTIONS (Qs. 6-10): In the following questions, the symbols
5, @, ©, % and * are used with the following meaning as
illustrated below :

(SBI PO 2010)

'P © Q' means 'P is not smaller than Q'.
'P % Q' means 'P is neither smaller than nor equal to Q'.
'P * Q' means 'P is neither greater than nor equal to Q'.
'P 8 Q' means 'P is not greater than Q'.
'P @ Q' means 'P is neither greater than nor smaller than Q'.
Now in each of the following questions assuming the given
statements to be true, find which of the four conclusion I, II, I1I
and IV given below them is/are definitely true and give your
answer accordingly.
6.  Statements:

R*K,K%D,D@V,VsM

Conclusions :

L R*D

. V*R

I. D@M

V. M%D

(@) Noneis true (b) OnlylIllis true

(¢) OnlylVistrue (d) Onlyeither Il or IV istrue

(e) Onlyeither III or IV and Il are true
7.  Statements :

F%N,NOW, W3Y,Y*T

Conclusions :

L F%W

. T%N

I N%Y

NV T%W



(a) OnlylandIllaretrue (b) Onlyland IV are true
(¢) Onlylland Il aretrue (d) Only I, Iland IV aretrue
(¢) None of these
8  Statements :
BOT, T*R,R%F,F@K
Conclusions :
. B%R
. F*T
. R%K
IV K*T
(a) Noneis true
(¢) OnlylIlistrue
(¢) OnlylVistrue
9.  Statements :
J@FF8N,N%H HOG
Conclusions :
L. G*N
. NOJ
M F*J
V. J8G
(a) Onlyland Il are true
(b) Onlyl, Il and I1I are true
(¢) Onlyll, Illand IV are true
(d) All L II,Iland 1V are true
(¢) None of these
10. Statements :
DST,T@R,ROM,M%K
L R@D
I. R%D
Im K*T
V. M38T
(a) Onlyeither I or Il is true
(b) Only Illand IV are true
(¢) Onlyeither I or Il and III are true
(d) Onlyeither I or Il and IV are true
(e) Onlyeither Ior Il and Il and IV are true

DIRECTIONS (Qs. 11-15) : In the following questions, the
symbols ©, 3, $, ¥ and % are used with the following meaning as
illustrated below:

(b) Onlylistrue
(d) OnlylIllistrue

(IBPS Clerk 2011)
(i) ‘A 3B’ means ‘A isnot greater than B’
(i) ‘A% B’ means ‘A isnot smaller than B’.
@ii)) ‘A ©B’ means ‘A isneither greater than nor smaller than B’.
(iv) ‘A $B’ means ‘A is greater than B’.
(v) ‘A% B’means ‘A is smaller than B’.
Now in each of the following questions assuming the given
statements to be true, find which of the two conclusions I and 11
given below them is/are definitely true ?
Give answer (a) if only Conclusion I is true.
Give answer (b) if only Conclusion Il is true.
Give answer (c) if either Conclusion I or II is true.
Give answer (d) if neither Conclusion I nor II is true.
Give answer (e¢) if both Conclusions I and II are true.
11. Statements:R$J,J%M MOK
Conclusions: . KO]J
IL KxJ
12. Statements: DSR, MSR, MOF
Conclusions: I. F$D
I. F$R

13.  Statements: HOF, F$R, R x K
Conclusions: L. Rx H
I. K$F
14. Statements: B%D,DxT, T6R
Conclusions: . BS$T
I. R$D
15. Statements: M% N Nx A, A$B
Conclusions: . B xN
I A$SM

DIRECTIONS (Qs. 16-20) : In the following questions, the
symbols %, $, @ and © are used with the following meaning as
illustrated below

(IBPS Clerk 2011)
'P $ Q' means 'P is neither smaller than nor greater than Q'.
'P 8 Q' means 'P is not smaller than Q'.
'P © Q' means 'P is either smaller or equal to Q'.
'P % Q' means 'P is smaller than Q'.
'P @ Q' means 'P is neither equal tonor smaller Q'.
Now in each of the following questions assuming the given
statements to be true, find which of the two conclusions I and 11
given below them is/are definitely true?
(a) ifonly Conclusion Iis true.
(b) if only Conclusion II is true.
(c) ifeither Conclusion I or Il is true.
(d) ifneither Conclusion I nor Il is true.
(e) if both Conclusions I and II are true.
16. Statements: W$F, FSR, R*M
Conclusions: . R*W
II. RSW
17. Statements: VST, T@N, N$J
Conclusions: 1. J*T
II. NV
18. Statements : KOR, R6M, M *F
Conclusions: 1. F@R
I. KM
19. Statements:B@J, J* H, HON

Conclusions: 1. N@]J
I. N@B
20. Statements: T* K, KOM, MdD
Conclusions: . D*K
I M@T

DIRECTIONS (Qs. 21-25): In the following questions, the
symbols *, $, 3, © and % are used with the following meanings
as illustrated below:

(IBPS Clerk -2011)
‘P 8 Q” means ‘P is neither greater than nor equal to Q’.
‘P % Q’ means ‘P is neither smaller nor greater than Q’.
‘P % Q’ means ‘P is not greater than Q.
‘P $ Q’ means P is greater than Q’.
‘P © Q’ means ‘P is either greater or equal to Q’.
Now, in each of the following questions, assuming the given
statements to be true, find which of the two conclusions I and 11
given below them is/are definitely true. Give answer
(a) ifonlyconclusion I is true.
(b) ifonlyconclusion II is true.
(c) ifeither conclusion I or I is true.
(d) ifneither conclusion I nor Il is true.
(e) ifboth conclusions I and II are true.



(c) ifeither Conclusion I or Il is true.
(d) ifneither Conclusion I nor Il is true.
(e) ifboth Conclusions I and II are true.
31. Statements: F@N,NSR H@R
Conclusions: I HON
II. F#R
32. Statements: M#T, T@K,K$N
Conclusions: 1. M#N
. K&M
33. Statements: T%H HS$W
Conclusions: 1 W#T
L W%T
34. Statements: NJSK K#D,D%M
Conclusions: I MJK

21. Statements: H* K, KSN, N§W
Conclusions: I. N$H
. W&H
22. Statements: HOK, K%R, RoN
Conclusions: 1. NOK
II. R%H
23. Statements: R$ST, TOM, M%]J
Conclusions: 1. J%T
I J&T
24. Statements: BOA, Ax* M, WOM
Conclusions: 1. W$ B
I AxW
25. Statements: B% T, TOM, M*D
Conclusions: 1. D OB
0L Mx*B

DIRECTIONS (Qs. 26-30): In the following questions, the
symbols 8, %, *, $ and © are used with the following meaning as
illustrated below :

(IBPS Clerk -2011)

P % Q’ means ‘P is not smaller than Q’.
‘p*Q’ “.means ‘P is neither greater than nor equal to Q’.
‘P 3 Q” means ‘P is neither smaller than nor equaltoQ’.
‘P$ Q’ means ‘ P is neither greater than nor smaller than Q.
‘P © Q’ means’ P is not greater than Q’.
Now, in each of the following questions assuming the given
statements to be true. find which of the two conclusions I and II
given below them is/are definitely true. Give answer
(a) ifonly conclusion I is true
(b) ifonly conclusion II is true.
(c) ifeither conclusion I or Il is true
(d) ifneither conclusion I nor II is true
(e) ifboth conclusions I and II are true
26. Statements: DS$T, T%M, M*]J

Conclusions: 1. J6D II. MOD
27. Statements: B*K, K$N, N%R

Conclusions: . R$K II. R*K
28 Statements: H%F, F*W, WS$E

Conclusions: 1. ESF II. HOW
29. Statements: ZdD, DOK, K&M

Conclusions: 1. M*D II. Z3K
30. Statements: WOB, N& B, NOF

Conclusions: 1. F6 B II.W*N

DIRECTIONS (Qs. 31-35): In the following questions, the
symbols 8, %, $, # and @ are used with the following meaning as
illustrated below:

(IBPS Clerk 2011)
‘P $ Q’ means ‘P is not smaller than Q’.
‘P @ Q’ means ‘P is not greater than Q.
‘P 8 Q” means ‘P is neither smaller than nor equal to Q.
‘P #Q’ means ‘P is neither greater than nor equal to Q’.
‘P % Q’ means ‘P is neither smaller than nor greater than Q.
Now in each of the following questions assuming the given
statements to be true, find which of the two conclusions I and 11
given below them is/are definitely true?
Give answer
(@) ifonlyConclusion I is true.
(b) ifonlyConclusion Il is true.

II. D8N
35. Statements: J$B,B%R,RSF
Conclusions: 1 F#B
. R@J
36. Which of the following symbols should replace question
mark (?) in the given expression in order to make the
expressions ‘ A>D’and ‘F 2 C’ definitely true?

A>B>C?D<E=F (SBI PO 2011)
@ > (b) <
(© < @ =

(e) Either=or>

37.  Which of the following expressions is definitely true if the
given expressions ‘R <P’ as well as ‘S > Q’ are definitely
true? (SBIPO 2011)
(@ P>Q=R<T<S (b) S>T=R>Q<P
(¢) Q>R<T>P=S d S>T=2R>Q>P
(¢) None of these

DIRECTIONS (Qs. 38-41): In these questions, relationships
between different elements is shown in the statements. These
statements are followed by two conclusions.

(IBPS Clerk 2012)
Give answer (a) if only conclusion I follows.
Give answer (b) if only conclusion II follows.
Give answer (¢) if either conclusion I or conclusion II follows.
Give answer (d) if neither conclusion I nor conclusion II follows.
Give answer (¢) if both conclusions I and II follow.
38 Statement:

A<L<T<R < H>K

Conclusions :
I H>L
II. K>T

39. Statement:
P=N>D > G<B=]

Conclusions :
I G<P
oL G<J

40. Statement :
F<C>2V=Z>X=U

Conclusions :
I V<U
. Z<F

41. Statement :
Q<E=I>N2>=R2=>S
Conclusions :

I. E=S
II. S<N



DIRECTIONS (Qs. 42-46): In these questions relationship
between different elements is shown in the statements. The
statements are followed by two conclusions.

(RBI Assistant 2012)
Give Answer (a) : If only Conclusion I is true.
Give Answer (b) : If only Conclusion II is true.
Give Answer (c) : Ifonly Conclusion I or II is true.
Give Answer (d) : Ifneither Conclusion I nor II is true.
Give Answer (¢) : Ifboth Conclusions I and II are true.

42.  Statement H>I=J>K<L
Conclusions I K<H
ILL>I
43, Statement S>C=>0;P<C
Conclusions I O<P
II. S<P
44, Statement A=B<C;A>R
Conclusions I. B>R
II. R<C
45.  Statement D>E<F;J<F
Conclusions I D>]J
II. E<J
46. Statement P<Q>T;R2Q
Conclusions I R>P
II. T<R

DIRECTIONS (Qs. 47-51): In these questions, relationships
between different elements is shown in the statements. These
statements are followed by two conclusion.

(SBI Clerk 2012)
Give answer (a) if only conclusion I follows
Give answer (b) if only conclusion II follows
Give answer (c) if either conclusion I or conlcusion II follows
Give answer (d) if neither conclusions I nor conlcusion II follows
Give answer (¢) if both conclusions I and II follows
47. Statement: R >S>T>U>X;T<V<W
Conclusions: 1. R>X
I X<W
48. Statement: E=F<G<H;G>1
Conclusions: 1. H>1
II. E>I
49. Statement: A>B>F>C;D>E>C
Conclusions: 1. C<A
II. B>D
50. Statement: K<L<M=N;P>0>=N
Conclusions: I. K<P
II. K=P
51. Statement: D<E<F<G;K>F
Conclusions: 1. K<G
II. K>D

DIRECTIONS (Qs. 52-56) : In the following questions, the
symbols @, $, #, © and % are used with the following meaning
as illustrated below :

(IBPS PO 2012)
'P $ Q' means 'P is neither greater than nor equal to Q'
'P © Q' means 'P is either greater than or equal to Q.'
'P # Q' means 'P is neither smaller than nor equal to Q.'
'P % Q' means 'P is not greater than Q.'
'P @ Q' means 'P is neither greater than nor smaller than Q.'

Now in each of the following questions assuming the given
statements to be true, find which of the four conclusions I, II, III
and IV given below them is/are definitely true and give your
answer accordingly.
52. Statement :R#J,J$D,D@K,K%T
Conclusions :
I T#D
I. R@D
. R#K
vV J$T
(a) Onlyeither I or Il is true
(b) OnlylIllis true
(¢) Onlyllland IV aretrue
(d) Onlyeither I or Il and III are true
(¢) None of these
53. Statement:T%R,R$M,M@D,DOH
Conclusions :
L. D%R
II. H#R
I ToM
NV T%D
(@) Onlylistrue (b) Onlyland IV are true
(¢) Onlylland Il aretrue (d) OnlyllandIV aretrue
(¢) None of these
54. Statement:M @ B,B#N,N$§R, ROK
Conclusions :
I K#B
. ROB
Im M$R
V. NOM
(@) OnlylandIllaretrue (b) Onlyland IV are true
(¢) OnlyllandIVaretrue (d) Onlyll, [lland IV aretrue
(¢) None of these
55. Statement:F#H, H@M,MOE,ES$J
Conclusions :
L JOM
II. E#H
m MOF
IV. F#E
(@) Onlyland Il are true
(b) OnlyIland III are true
(¢) Onlyl, Il and III are true
(d) Onlyll, Illand IV are true
(¢) None of these
56. Statement:D %A, A@B,BOK, K%M
Conclusions :
L. BS$D
. K#A
Im M#B
N AOM
(@) Onlyl, Il andIV aretrue
(b) Onlyl, Il and I1I are true
(¢) Onlyll, Illand IV are true
(d) Onlyl, Illand IV are true
(¢) None of these

DIRECTIONS (Qs. 57-61): In these questions, relationships
between different elements is shown in the statement. The
statement is followed by two conclusions. Study the conclusions
based on the given statement and select the appropriate answer.

(IBPS Clerk 2013)




57. Statement: K>I>T>E;O<R<K
Conclusions: 1. R<E
IL O<T
(a) Neither conclusion I nor II follows
(b) Both conclusions I and II follow
(¢) Only conclusion II follows
(d) Either conclusion I or II follows
(e) Only conclusion I follows
58. Statement: C<L<O=U=D2>S>Y
Conclusions: L. O>Y
IL. C<D
(a) Neither conclusion I nor II follows
(b) Both conclusions I and II follow
(c) Only conclusion I follows
(d) Only conclusion II follows
(e) Either conclusion I or II follows
59. Statement: K>L>M2=N
Conclusions: . N<K
II. N<K
(@) Both conclusions I and II follow
(b) Neither conclusion I nor II follows
(c) Either conclusion I or II follows
(d) Only conclusion I follows
(¢) Only conclusion II follows
60. Statement: Z>Y=W<X
Conclusions: 1. W<Z
Lw=Z
(a) Only conclusion II follows
(b) Only conclusion I follows
(c) Neither conclusion I nor II follows
(d) Either conclusion I or II follows
(¢) Both conclusions I and II follow
61. Statement: B>A>S<I>C>L>Y
Conclusions:I. B>L
. A>Y
(a) Only conclusion I follows
(b) Only conclusion II follows
(c) Either conclusion I or II follows
(d) Neither conclusion I nor II follows
(¢) Both conclusions I and II follow

DIRECTIONS (Qs. 62-66) : In these questions relationship
between different elements is shown in the statements. The
statements are followed by two conclusions.

(RBI Assistant 2013)
Give answer (a) if only Conclusion I is true.
Give answer (b) if only Conclusion Il is true.
Give answer (c) if either Conclusion I or II is true.
Give answer (d) if neither Conclusion I nor II is true.
Give answer (e¢) if both Conclusions I and II are true.
(62-63) :
Statements : R>T<M=Z;C>T>B
62. Conclusions:

L. Z>C II. B<Z
63. Conclusions:
I B<C II. R>C

(64-65) :
Statements : P>Q>T;Q<R; T>A
64. Conclusions :

L A<Q II. A<P
65. Conclusions :

IL T<P I. R>A
66. Statements :

P>T=U<W,; Q>R>W

Conclusions

I T=R II. U<R

DIRECTIONS (Qs. 67-71) : In the following questions, the
symbols A, T @, © and # are used with the following meaning as
illustrated below :

(IBPS SO 2013)

‘X AY’ means ‘X’ is neither greater than nor equal to Y.
‘X Z Y means ‘X is not smaller than Y.
‘X @ Y means ‘X is not greater than Y.
‘X ©Y’ means ‘X is neither greater than nor smaller than Y”.
‘X#Y’ means ‘X is neither smaller than nor equal to'Y.
Now in each of the following questions assuming the given
statements to be true, find which of the two Conclusions I and 11
given below them is/are definitely true ?
Give answer (a) Ifonly Conclusion I is true.
Give answer () if only Conclusion Il is true.
Give answer (c) if either Conclusion I or II is true.
Give answer (d) if neither Conclusion I nor II is true.
Give answer (e¢) if both Conclusions I and II are true.
67. Statements :

R@J,FEJ,CXF

Conclusions :

L ROC

II. C#R
68. Statements :

W@P,W#E,EAV

Conclusions :

I. P#E
I. VOW

69. Statements :
JOR,PXZR,Z#P
Conclusions :
I RAZ
oL Ja@P

70. Statements :
G@O,NOO,H#G
Conclusions :

I OAH
. GON

71.  Statements :
QAB,MOB,KXM
Conclusions :

I KOB
II. QAK



DIRECTIONS (Qs. 72-73) : In these questions, relationship
between different elements is shown in the statements. These
statements are followed by two conclusions.

(IBPS SO 2013)
Mark answer If
(@ Onlyconclusion I follows.
(b) Only conclusion II follows.
(c) Either conclusion I or II follows.
(d) Neither conclusion I nor II follows.
(¢) Both conclusion I and II follow.
72. Statement: E<F<G=H>S

Conclusions:
I G>S
II. F<H
73. Statement: P <Q<W=L
Conclusions:
I L>P
II. Q<L

DIRECTIONS (Qs. 74-78) : In these questions the symbols @, #,
$, % and * are used with different meanings as follow.

(IBPS PO 2013)

'A @ B'means'A is not smaller than B".

'A#B'means'A is neither smaller than nor equal to B'.

'A $ B' means 'A is neither greater than nor smaller than B'.

'A % B' means'A is not greater than B'.

'A * B'means 'A is neither greater than nor equal toB'.

In each questions, four statements showing relationships have
been given, which are followed by three conclusions I, Il and I11.
Assuming that the given statements are true, find out which
conclusion (s) is/are definitely true?

74. Statements: VSY,Y@Z,Z%X,X#T

Conclusions:
I T#Z I. X#Y
m zZxY

(@) None follows

(c) IIandIII follow

(¢) OnlylIII follows
75. Statements:R@J,J%F,F *E,E %M

(b) Onlyl follows
(d) TandIII follow

Conclusions:
I M#]J II. F%M
m Mx*xR

(@) OnlylI follows
(¢c) OnlylIII follows
(e) Allfollow

76. Statements: H#R, R@L, L * W, W%F
Conclusions:
I H#J
M. H$F
(@) Onlyl follows
(c) IIand III follow
(e) Allfollow

77. Statements: M#K M$F F%Q,Q % H
Conclusions:
I H#K
I Q@M
(a) IandII follow
(c) Allfollow
(¢) None of the above

(b) OnlyII follows
(d) IandIIfollow

II. F#L

(b) IandII follow
(d) Either Ior II follows

I Q#K

(b) Either Ior II follows
(d) IIand III follow

78. Statements:D * Q Q$L, L#T, T%H
Conclusions:
L DxL
M. H#L
(@) Onlyl follows (b) IandII follow
(c) Either Il or Il follows (d) All follow
(¢) None of these

DIRECTIONS (Qs. 79-83) : In below questions, relationship
between different elements is shown in the statements. These
statements are following by two conclusions.

(IBPS Clerk 2014)
Mark answer (a) if only conclusion I follows.
Mark answer (b) if only conclusion II follows.
Mark answer (c¢) if either conclusion I or II follows.
Mark answer (d) if neither conclusion I nor II follows.
Mark answer (¢) if both conclusion I and II follows.
79. Statements :
A>B=C;B<D<E
Conclusions: . D>A
I. E>C
80. Statements :
L>U>K;Z<U<R
Conclusions: 1. L>Z
I. K<R
81. Statements :
Y<J=P;P>R>I
Conclusions : 1. J>1
II. Y<R
82. Statements :
V>K>M=N;M>S§; T<K
Conclusions : 1. T<N
IL V=S
83. Statements :
F<X<A;R<X<E
Conclusions : 1. F<E
I. R<F

DIRECTIONS (Qs. 84-88) : In the following questions the
symbols @, @ ,=©and ©- are used with the following meaning:
(SBI Clerk 2014)

I. L@H

P © Q means Pis less than Q.
P @ Q means P is greater than Q.

P @& (Qmeans P is greater than or equal to Q.

P=Qmeans Pis equal to Q.

P © Qmeans P is either smaller than or equal to Q.

Now in each of the following questions, assuming the given
statements to be true, find which of the two conclusions I and 11
given below them is/are definitely true ? Give answer.

(a) ifonlyconclusion I is true.

(b) ifonlyconclusion II is true.

(c) ifeitherIorIlistrue.

(d) ifneither I nor Il is true, and

(¢) ifboth IandII are true.

84. Statements: B@ V,K©OC,C © B

Conclusions: 1 V@C
I. B@K



85. Statements: K@ 7, S=K T © R
Conclusions: 1 S@R
I. T=R
86. Statements:U=M P & U M @& B
Conclusions: 1. P=B
I. P@B
87. Statements:L @& N,J © PP &L
Conclusions: 1. J=L
. P=N
88. Statements: H @& GD@E H=E
Conclusions: 1 D@H
. G&D

DIRECTIONS (Qs. 89-93): In the following questions, the
symbols @, $ , *,# and 6 are used with the following meaning
as illustrated below:

(SBI Clerk 2014)
P $ Q means'P is not smaller than Q'.
P @ Q means 'Pis neither smaller than nor equal to Q'
P # Q means 'P is neither greater than nor equal to Q'.
P 8 Qmeans' P is neither greater than nor smaller than Q'.
P * Q' means 'P is not greater than Q'.
Now in each of the following questions assuming the given
statements to be true, find which of the four conclusions I, II, I1I
and IV given below them is/are definitely true and give your
answer accordingly.
80. Statements: H@ T, T#F, FOE, ExV

Conclusions:
L V$F . E@T
m H@V IV. T#V

(@) Onlyl, II and III are true
(b) Onlyl, Tand IV are true
(¢) Onlyll Il and IV aretrue
(d) Onlyl, Il and IV are true
() AlLILIlandIV aretrue
9. Statements:D#R,R* K. K@F,F$J

Conclusions:
L J#R II. J#K
M. R#F IV. K@D

(@ Onlyl, Il and III are true
(b) Onlyll, III and IV are true
(¢c) Onlyl, Illand IV are true
(d) ANLILIandIV are true
(¢) None of these
91. Statements: N5B, B$ W, W#H, HxM

Conclusions:
L M@W I. H@N
m. W8N IV. W#N

(a) Onlylistrue

(b) OnlylIll is true

(¢) OnlyIVistrue

(d) Onlyeither Il or IV istrue

(¢) Onlyeither Il or IV and I are true
9. Statements: R*x D, D$J, JiM, M@K

Conclusions:
I K#J I. D@M
M. R#M IV. D@K

(@) Noneis true

(¢) Onlyllistrue

(¢) OnlyIVistrue
93. Statements: M $ K, K@N,N* R, R# W

(b) Onlylistrue
(d) OnlyIll is true

Conclusions:
I WK I. MS$R
m K@W IV. M@N

(a) OnlylIand Il are true
(b) Onlyl. Il and III are true
(c) Onlylll and IV are true
(d) Onlyll, III and IV are true
(¢) None of these

DIRECTIONS (Qs. 94-98) : In the following question * &, $,£
and @ are used according to following meaning.

(IBPS PO 2014)
‘P*Q’ means, ‘P is neither equal nor smaller than Q’
‘POQ’ means, ‘P is not smaller than Q’
‘P$Q’ means, ‘P is neither greater nor smaller than Q’
‘P£Q’ means, ‘P is neither greater nor equal to Q’
‘P@Q’ means, ‘P is not greater than Q’
Now according to the folllowing statement if they are true, judge
their Conclusions I, II and III follow definitely true.
94. Statements
E@F, O®F P@E, P$R

Conclusions
L O$P 1. E®R I P£O
(@) Onlylistrue (b) OnlylIlistrue
(¢) EitherIorIlistrue (d) OnlylIllis true
(¢) None of these
95. Statements
A*B,B@C, A$D, D£E
Conclusions
L E*B I. C$A II. D@E
(@) Onlylistrue (b) IandIlaretrue
(¢) Onlylllistrue (d) No oneis true

(¢) None of these
96. Statements
I&H, HST, SET, S@R

Conclusions
L I*T 1O I$T W S*H
(a) Allaretrue (b) EitherIorIlistrue
(¢) Onlylistrue (d) OnlylIlistrue
(¢) None of these
97. Statements
S@T,Q$N, TEN,Q*O
Conclusions
L S$SN II. N®O III.L. N*O
(@) Noneis true (b) EitherIorIIlis true
(¢) Onlylistrue (d) OnlylIlistrue
(¢) None of these
98. Statements
H®J,J*K,L$K, K@M
Conclusions
I KEM 1. L$J 1. HOL
(@) IandIIl are true (b) OnlylIlistrue

(¢) Onlylllistrue
(¢) None of these

(d) Noneis true



DIRECTIONS (Qs. 99-103): In the following questions, the symbols

%, {,8, # and @ are used with the following meaning as
illustrated below :

(SBI SO 2014)
'P % Q' means 'P is neither smaller than nor equal to Q'.

'P {,Q' means 'P is not greater than Q'
'P $ Q' means 'P is not smaller than Q'.
'P #Q" means 'P is neither greater than nor equal to Q'
'P @ Q' means 'P is neither greater than nor smaller than Q'.
99. Statements :
D O, R#M,M@K,K%F
Conclusions :

L F$M I. K@R
. K%R N D@M
(@) Noneis true (b) Onlylistrue
(¢) OnlylIlistrue (d) OnlylIllis true
(¢) OnlylVistrue
100. Statements :
R$B,B@A,A%K K#M
Conclusions :
L M%A II. K$B
m A%R IV. K#R
(a) OnlylVistrue (b) Onlyland IV are true

(¢) OnlylIland Il are true (d)
(¢) Noneis true
101. Statements :
D#M,MSRR@J,W%]J
Conclusions :
L. W%R I
M. R%D \%
(a) OnlyIland III are true
(b) Onlyland IV are true
(¢c) Onlyland Il are true
(d) Onlyllland IV are true
(e) Allaretrue
102. Statements :
W@T,T$N,N#F,V%F
Conclusions :
I. V%N I
M. TS$F \%
(a) Onlyland IV are true (b)
(¢) OnlylVistrue (d)
(¢) Onlyllland IV aretrue
103. Statements :

B%K K#D,DON,N@T
Conclusions :

L N%K IL
m K#B |\%
(a) Onlyland]II are true

(b) OnlylIlandIII are true

(¢c) Onlyl, IIandIV aretrue
(d) Onlyllland IV aretrue
(e) Allaretrue

DIRECTIONS (Qs. 104-109) : In these questions relationship
between different elements is shown in the statements. The
statements are followed by two conclusions.

OnlyI, Il and IV are true

MS$]J
W%M

WSEN

V@N

OnlyIand II are true
Onlyll, Il and IV are true

T$D
T%K

(SBI SO 2014)

Give answer (a) ifonly Conclusion I is true.
Give answer (b) if only Conclusion Il is true.
Give answer (c) if either Conclusion I or Conclusion Il is true.
Give answer (d) if neither Conclusion I nor Conclusion Il is true.
Give answer () if both Conclusions [ and II are true.
(104-105) : Statements:
O=L<T>S;L>L[T<Z
104. Conclusions:
L I<O I
105. Conclusions:
L Z>1 IL
106. Statements:
G<K=0>U>P<S
Conclusions:
I G<U IL
107. Statements:
A>L<P<B;P>M
Conclusions:
L B>M IL
(108-109) : Statements:
I>M=P>R;B<P>A
108. Conclusions:
L A<I IL
109. Conclusions:
L A<R I. B<I

Z>8

S<I

$>0

A>M

I=A

DIRECTIONS (Qs.110-114) : In these questions, relationship
between different elements is shown in the statements.

(SBI PO 2014)
The statements are followed by two conclusions.
Give answer (a) if only Conclusion I is true.
Give answer (b) if only Conclusion II is true.
Give answer (c) if either Conclusion I or II is true.
Give answer (d) if neither Conclusion I nor II is true.
Give answer (¢) if both Conclusions [ and II are true.
110. Statements :
B>C=D>X;E<X;Z>D
Conclusions : . B>E
II.Z>B
111. Statements:
E>F>G<H<I<]
Conclusions : 1. GXE
IL.J>F
112. Statements:
K<L<M>N2>0;T>M<P
Conclusions: 1. T>K
I.LP>0
113. Statements :
B>0=K>L,D>K=>S
Conclusions : 1. O<D
II.S<L
114. Statements :
B>0=K>L,D>K=>S
Conclusions : 1. L>D
I.B>S



DIRECTIONS (Qs. 115-119): In the following questions, the
symbols 8, *, %, # and @ are used with the following meaning
asillustrated below.

(SBI SO 2014)
‘P % Q’ means ‘P is neither greater than nor equal to Q.
‘P 3 Q’ means ‘P is neither smaller than nor equaltoQ’.
‘P @ Q’ means P is not greater than Q’.
‘P * Q’ means ‘P is not smaller than Q’.
‘P#Q’ means ‘P is neither greater than nor smaller than Q’.
Now, in each of the follwoing questions assuming the given
statements to be true, find which of the four conclusions I, II, III
and IV given below them is/are definitely true and give your
answer.
115. Statement: R * T, T6M,M% K, K@V

Conclusions:
I V&M II. V8T
m M%R IV. K&R

(@) landIIaretrue

(¢) IlandlV aretrue

(¢) None of these
116. Statement: H3J,J#N,N@R,R6W

(b) IandIIl are true
(d) I, IllandIV aretrue

Conclusions:
I W%N I W%H
M. R#J IV. R4J

(@) Onlylistrue

(¢) Onlylllistrue

(e) EitherIllorIVistrue
117. Statement: B@D,DSF,F % M, M * N.

(b) OnlylIlistrue
(d) OnlylVistrue

Conclusions:
I B%F . M3D
m N%F IV D8N

(@) Noneis true

(¢) Onlyllistrue

(¢) OnlylVistrue
118. Statement: F#Z,Z@H,H% N,N&B

(b) Onlylistrue
(d) OnlylIllis true

Conclusions:
I F@H I N%Z
m B%H VN B%Z

(@) IandIIl are true

(¢) landIIaretrue

(¢) None of the above
119. Statement :M %K, K * W, W3V,V@N

(b) I, IIandIV aretrue
(d) I, IIand Illaretrue

Conclusions:
I NxK I M%W
m K&V N V%M

(aj None is true
(¢) Onlyllistrue
(¢) OnlylVistrue

DIRECTIONS (Qs. 120-124): In the following questions, the
symbols B, v, ¥, o and d are used with the following meanings..

(IBPS SO 2014)

(b) Onlylistrue
(d) OnlylIllis true

P B Q means P is not smaller than Q.

Py Q means P is neither greater than nor smaller than Q.

P v Q means P is not greater than Q.

P o Q means P is neither smaller than nor equal to Q.

P 6 Q means P is neither greater than nor equal to Q.

Now in each of the following questions, assuming the given
statements to be ture, find which of the two conclusions I and 11
given below them is/are definitely true. Give answer,

(a) ifonly conclusion I is true;
(b) ifonlyconclusion II is true;
(c) ifeither L or Il s true;

(d) ifneither I nor Il is true; and
(¢) ifboth IandII are true.

120. Statements: MBN,HyQ,BfM
Conclusions: [ HyM
I.QyN
121. Statements: CaB,L3S,SyC
Conclusions: [.BaS
II.CaL
122. Statements: IBH,EaF IyF
Conclusions: L Eal
ILHSE
123. Statements: VyO,RYV,0BB
Conclusions: 1. RyB
II.LRaB
124. Statements: LaUTyV,0BB.
Conclusions: [ TaW
LUyW

DIRECTIONS (Qs. 125-129) : In the following questions, the
symbols @, ©, $, % and * are used with the following meanings
as illustrated below:

(IBPS SO 2015)
'P © Q' means 'P is not smaller than Q'.
'P * Q' means 'P is not greater than Q'.
'P @ Q' means 'P is neither greater than nor equal to Q'.
'P $ Q' means 'P is neither smaller than nor equal to Q'.
'P % Q' means 'P is neither greater than nor smaller than Q'.
125. Statements: JSK, K*T, T@N,NOR

Conclusions:
L JS$T I. R*T
M N$K IV. R*K

(@) Noneis true

(¢) Onlyllistrue

(¢) OnlylVistrue
126. Statements: F% W, WOR, R@M,M$D

(b) Onlylistrue
(d) OnlylIllis true

Conclusions:
I D@R .. MS$F
M R@D IV. R*F

(@) Noneis true

(¢) Onlylistrue

(¢) OnlylIlistrue
127. Statements: H@ B,B*E,VOE, W$V

(b) OnlylIllis true
(d) OnlylVistrue

Conclusions:
I WS$SE . H@E
m H@V IV. W$B

(a) Onlyland Il are true
(b) Onlyl, Il and I1I are true
(¢) Onlyll, Illand IV are true
(d) Allaretrue
(¢) None of these
128. Statements: ROK, K*N,N$J J%H

Conclusions:
I. R$N I. J@K
M. HaN IV. R$H

(aj Only I is true
(¢) Onlyllistrue
(¢) OnlylVistrue

(b) OnlylIllis true
(d) None of true



129. Statements: K*D DSN, N% M MOW

Conclusions:
I M@K I. N@K
m M@D IV. W*N

(a) Onlyland Il are true

(b) Onlylll and IV are true
(¢c) Onlyl, Il and III are true
(d) Allaretrue

(¢) Noneis true

DIRECTIONS (Qs. 130-134) : Read the following information
and answer the question carefully.

(IBPS Clerk 2015)

'P $ Q' means 'P is not smaller than Q'
'P @ Q' means 'P is neither smaller than nor equal to Q'
'P # Q' means 'P is neither greater than nor equal to Q'
'P & Q' means 'P is neither greater than nor smaller than Q'
'P * Q' means 'P is not greater than Q'
130. Statements :

H@T, T#F F&E,E*V

Conclusions :

L VS$F I E@T

. H@V N T#V

(a) Onlyl, Il and III are true

(b) Onlyl, Il and IV are true

(¢) Onlyll, Illand IV are true

(d) Onlyl, Illand IV are true

(¢) AlIILITand IV aretrue
131. Statements :

D#R,R*K,K@F,F$J

Conclusions:

L J#R . J#K

. R#F N K@D

(a) Onlyl, Il and III are true

(b) Onlyll, Illand IV are true

(¢) Onlyl, Illand IV are true

(d) ANLILIandIV aretrue

(¢) None of these
132. Statements:

N&B,B$W,W#H H*M

Conclusions:

I M@W I. H@N

m W&N V. W#N

(@) Onlylistrue

(b) OnlylIllis true

(¢) OnlylVistrue

(d) Onlyeither Il or IV are true

(¢) Onlyeither Il or IV and I are true
133. Statements:

R*D,D$J,J#MM@K

Conclusions:

L K#J I. D@M

. R#M N D@K

(@) Noneis true (b) Onlylistrue
(¢) Onlyllistrue (d) OnlylIllis true

(¢) OnlylVistrue
134. Statements:
MSK,K@N,N*R,R#W

135.

136.

137.

138.

139.

Conclusions:
L W@K I.L. M$R
m Ka@w N M@N

(a) Onlyland Il are true

(b) Onlylll and IV are true

(¢) Onlylllor IV are true

(d) Onlyll, IlTand IV are true

(¢) None of these

Which one of the following symbols should be placed in
the blank spaces(from left to right) in order to complete the
given expression in such a manner that both N > L and

G > K definitely true ? (IBPS Clerk 2015)
N GPLK

@ <£=>< b) >,<=<

© >=22 d <=<2

(¢) None of these
Which one of the following will be definitely true if the
expression ‘Q<S>V=W2>02R"is definitely true ?

(IBPS Clerk 2015)
(@ S=20 (b)) 0=Q
() W<Q (d) RV

(¢) None of these
Which one of the following will be definitely true if the
expression ‘F=A<L<C>O02=N;Y>L; Q> C’is definitely

true ? (IBPS Clerk 2015)
(@ Q=N (b) F=Y
(¢ Q>F (d Y=N

(¢) None of these

Which one of the following symbols should be placed in
the blank spaces(from left to right) in order to complete the
given expression in such a manner that both S < T and

P >R definitely true ? (IBPS Clerk 2015)
S NPTR

(@ £,5=> b) £<,5<

© <<=> d 2<><

(¢) None of these
Which one of the following will be definitely true if the
expression ‘D=C2>A>B>F<G=E<Hisdefinitelytrue ?

(IBPS Clerk 2015)
(@ F<H (b) D>F
(© A=G (d) D=B

(¢) None of these

DIRECTIONS (Qs. 140-144): Relationship between different
elements is shown in the statements. Find if the conclusions also
follow or not.

140.

141.

(SBI Clerk 2015)
Statements : P=Q>R=S>T;V<W=T;R>X
Conclusions:
LP>X
ILQ>W
(a) onlylI follows (b) onlyII follows
(c) eitherlorllfollows (d) neitherInor II follows
(e) both I and II follow
Statements: P=Q>R=S>T,V<X<T
Conclusions:
LP>X
IL.X>P
(a) onlylI follows (b) onlyII follows
(c) eitherlorllfollows (d) neither Inor II follow
(e) both I and II follow



142. Statements: P=T>A<D>W;W<X>L;P<K=N
Conclusions:
I.LD>L
II.LALN
(a) onlylI follows
(c) either I or II follows
(¢) bothIandII follow
143. Statements:A>L>J=1;K<L<H;G=H<B
Conclusions:
I.LJ<B
ILJ>B
(a) onlylI follows
(b) onlyII follows
(c) either I or II follows
(d) neither I nor II follows
(¢) bothIandII follow
144. Statements: T>P<B=H;J<P>M;L<G=]
Conclusions:
L.T<J
II. GEH
(a) onlylI follows
(c) either I or II follows
(¢) bothIandII follow

DIRECTIONS (Qs. 145-149): In the following questions, the
symbols are used as follows

(b) onlyII follows
(d) neither Inor II follow

(b) onlyII follows
(d) neither Inor II follow

(IBPS SO 2015)
A© Bmeans ‘A is greater than B’.
A©B means ‘A is either greater than or equal to B’.

A =Bmeans ‘Aisequal toB’.
A @B means ‘A is smaller than B.
A @B means ‘A is either smaller than or equal to B’.

Now in each of the following questions, assuming the three
statements to be true, state which of the two conclusions I

and II given below them is definitely true.

Given Anwser () if only conclusion [ is true;

Given Answer (b) if only conclusion II is true;

Given Answer (c) if either I or I is true;

Given Answer (d) ifneither Inor Il is true

Given Answer (¢) if both I and II are true.

145. Statements: Q@R,R@M,M @ D

Conclusions: . DOR I.DOQ
146. Statements: M @ K, KOR,ROP
Conclusions: LP@K II.P@M
147. Statements: TOM,M=P,POR
Conclusions: LR@T ILTOR
148. Statements: P@ Q,QOK, K@M
Conclusions: 1. M=Q IL.MOQ
149. Statements: POF,M@F,FON
Conclusions: IMOP ILN@P
150. In which of the following expressions will the expression P
<M be definitely true ? (SBI SO 2015)
(@) M<R>P>S (b) M>S=P<F
() Q<M<F=P (d) P=A<R<M
(¢) None of these

DIRECTIONS (Qs. 151-156) : In these questions, relationship
between different elements is shown in the statements. These
statements are followed by two conclusion.

(IBPS PO 2015)
Mark answer (a) if only conclusion I follows
Mark answer (b) if only conclusion II follows.
Mark answer (c) if either conclusion I or II follows
Mark answer (d) if neither conclusion I nor II follows.
Mark answer (¢) if both conclusions I and II follows
151. Statement :
A>B <C,C<D,D>F
Conclusions :
L F>B
152. Statement:
X>Y2>Z7,Q=Y,P>X
Conclusions :
L Z<P IL
153. Statement :
L>LH>1>J,K<]J
Conslusions :
I H>L IL
154. Statement:
02>2P=Q,R<P S<Q
Conclusions :
. R<S IL
155. Statement :
D>E>F=GE=H<]J
Conclusions :
L J>D IL
156. Statement:
J2R>Z R>F<W,B>]
Conclusions :
L J>F I. B>W

DIRECTIONS (Qs. 157-161) : In these questions relationship
between different elements is shown in the statements. The
statements are followed by two conclusions.

(IBPS PO Prelim 2015)
Give answer (a) ifonly conclusion I is true.
Give answer (b) if only conclusion Il is true.
Give answer (c) ifeither conclusion I or IT is true.
Give answer (d) ifneither conclusion I nor II is true.
Give answer (¢) if both conclusion I and II are true.
157. Statements :
E>F=G; I=T; T<G
Conclusions :
I. I<E IL
158. Statements :

G>H<T; I>F, H>J

Conclusions :

L J<G IL
159. Statements :

V>W<X; X<Y; Z>X

Conclusions :

L. Z>V IL
160. Statements :

M>N>P; O>P; S<P

Conclusions :

IL. S<M IL

. A>D

P>Q

L>K

0>S§

G<J

I=E

F<H

Y>W

Oo<M



161. Statements :
A>E>F, G>F, M>A

Conclusions :
I M>E II. G<A

DIRECTIONS (Qs. 162-166): Read the following information
and answer the questions based on it.

(SBIPO Prelim 2015)
P @ Q means P is either greater than or equal to Q
P+ Q means P is either smaller than or equal to Q

P % Q means P is greater than Q
P x Q means P is smaller than Q
P $ Q means P is neither greater than nor smaller than Q.

Now in each of the following questions assuming the given
statement to be true, find which of the two conditions I and 11
given below them is/are definitely true?

Give answer.
(@) If only conclusion I is true
(b) Ifonly conclusion II is true
(c) Ifeither IorIlistrue
(d) Ifneither Iorll istrue
(¢) Ifboth IandII are true
162. Statements: M@R,R% T, T$K
Conclusion: (DK xM,(IDTxM
163. Statements: M %J,B+J,B@F
Conclusion: (INF$J, (IDJ%F
164. Statements: D$M, M % W, W @R
Conclusion : (I) RxD, (I[)W+D
165. Statements : A+N, NxV, V§J
Conclusion: ()J@N, IDA+V
166. Statements : KxT,T@B,B+M
Conclusion: ()M %T,(I)K+B
DIRECTIONS (Qs. 167-171): In these questions, relationship

between different elements is shown in the statements. These
statements are followed by two conclusions.

(SBI'PO Main 2015)
Give answer
(a) Ifonlyconclusion I follows
(b) Ifonly conclusion II follows
(c) Ifeither conclusion I nor II follows
(d) Ifneither conclusion I nor II follows
(e) Ifboth conclusion I and II follow
167. Statements: W>D<M<P<A=F
Conclusions
L F>D I P<W
168. Statements: H>M>F<A=B>S
Conclusions
I H>B I. F<S
169. Statements: B>T>Q>R=F
Conclusions
L Q>F 0. T>F
170. Statements: S=R>Q,P<Q
Conclusions
L. S=P . R>P

171. Statements: SZ2M<Y=Z>F>T
Conclusions
I S>F L Y>T

DIRECTIONS (Qs. 172-176): In these questions, the following
symbols are used with different meaning as follows:

(SBI Clerk Prelim 2016)
'A#B' means ' A is neither greater than nor equal to B'.
'AOB' means 'A is neither equal to nor smaller than B'.
'A%B' means 'A is neither smaller than nor greater than B'.
'A$B'means 'A is not smaller than B'.
'A@B' means 'A is not greater than B'.
Now, in each of the following questions, assuming the given
statements to be true, find which of the two conclusions I and 11
given below them is/are true.
Give answer.
(a) ifonly conclusion I is true.
(b) if only conclusion II is true.
(c) ifeither conclusion I or Il is true.
(d) ifneither conclusion I nor Il is true.
(e) ifboth conclusions I and II are true.

172. Statements: Z#F, R@F, DOR
Conclusions : 1. Z#R I.LDOZ

173. Statements: R @ D, DOW, B@W
Conclusions : 1. W#R ILDOB

174. Statements : MOR, R%D, D@N
Conclusions : I MON ILN$R

175. Statements: H$ V, V%M, KoM
Conclusions : L KOV II.LM@H

176. Statements : K#T, T$ B,B@F
Conclusions : 1. F$ T II.K#B

DIRECTIONS (Qs. 177-181): Read the following information
and answer the questions that follows.

(SBI Clerk Main 2016)
P@Q - P is neither greater than nor equal to Q
P%Q - P is neither smaller than nor equal to Q
P#Q - P is not greater than Q
P$Q - P is not smaller than Q
P*Q- P is neither smaller than nor greater than Q
177. Statements: A@B, B%C, C*D, DSE
Conclusions: (1) B%E 2) A%E
(a) Only conclusion 1 follows
(b) Only conclusion 2 follows
(¢) Either conclusion 1 or 2 follow
(d) Neither conclusion 1 nor 2 follows
(¢) Both conclusion 1 and 2 follow
178. Statements: A%B, B*C, C#D, D*E
Conclusions: (1) A%C (2) E$B
(a) Only conclusion 1 follows
(b) Only conclusion 2 follows
(¢) Either conclusion 1 or 2 follows
(d) Neither conclusion 1 nor 2 follows.
(¢) Both conclusion 1 and 2 follow
179. Statements: A*B, B$C, C#D, D@E
Conclusions: (1) E*A 2) C%A
(a) Only conclusion 1 follows
(b) Only conclusion 2 follows
(¢) Either conclusion 1 or 2 follows
(d) Neither conclusion 1 nor 2 follows.
(¢) Both conclusion 1 and 2 follow



180.

181

Statements: A$B, B$C, C*D, D@E
Conclusions: (1) ASE ) E%C
(a) Only conclusion 1 follows

(b) Only conclusion 2 follows

(¢) Either conclusion 1 or 2 follows
(d) Neither conclusion 1 nor 2 follows
(¢) Both conclusion 1 and 2 follow
Statements: A%E, E@C, C%B,B*D
Conclusions: (1) C%D 2 B@A
(a) Only conclusion 1 follows

(b) Only conclusion 2 follows

(¢) Either conclusion 1 or 2 follows
(d) Neither conclusion 1 nor 2 follows
(¢) Both conclusion 1 and 2 follow

DIRECTIONS (Qs. 182-186): In these questions, relationship
between different elements is shown in the statements. The
statements are followed by conclusions. Study the conclusions
based on the given statements and select the appropriate answer.

182.

183.

184.

185.

186.

(SBI SO 2016)
(@) Onlyconclusion I is true.
(b) Onlyconclusion Il is true.
(¢) Both conclusions I and II are true.
(d) Neither conclusion I nor II is true.
(e) Either conclusion I or Il is true.

Statements N<A=T>Z;R>T;Z<S
Conclusions LR>N 0.S>7
Statements L<E=A>P;Y>E>R
Conclusions LY>L ILA>R
Statements D<S>L>U;Q<S
Conclusions LQ<D LU>Q
Statements L<E=A>P;Y>E>R
Conclusions LLP>R LAY
Statements N<A=T>Z;R>T;Z<S
Conclusions LR=Z II.Z<R

DIRECTIONS (Qs. 187-191) : In these questions, relationship
between different elements is shown in the statements. The
statements are followed by conclusions. Study the conclusions
based on the given statement(s) and select the appropriate answer.

187.

188.

(IBPS Clerk Prelim 2016)
Statements: P<L<A>M=K>E
Conclusions:
I. K<L
. P<E
(a) Onlyconclusion Il s true.
(b) Either conclusion I or II is true.
(¢) Both conclusions I and II are true.
(d) Neither conclusion I nor II is true.
(e) Only conclusion I is true.
Statements: P>R=A<Y; D<A

Conclusions:
L P>D
I. D<Y

(a) Both conclusions I and II are true.
(b) Only conclusion I is true.

(¢) Neither conclusion I nor II is true.
(d) Either conclusion I or II is true.

(¢) Only conclusion II is true

189.

190.

191.

192.

193.

194.

195.

196.

Statements: P>R=A<Y; D<A
Conclusions:

. P<Y

II. R<D

(a) Both conclusions I and II are true.
(b) Neither conclusion I nor II is true.
(c) Only conclusion I is true.

(d) Only conclusion Il is true.

(e) Either conclusion I or II is true.
Statements: C>R>A=S<H;R<P<Q
Conclusions:

L C>8

. P<C

(a) Either conclusion I or II is true.

(b) Both conclusions I and II are true.
(c) Onlyconclusion Il is true.

(d) Neither conclusion I nor II is true.
(e) Only conclusion I is true.
Statements: C>R>A=S<H;R<P<Q

Conclusions:
I. H>R
. R<Q

(a) Both conclusions I and II are true.

(b) Only conclusion Il is true.

(c) Only conclusion I is true.

(d) Either conclusion I or II is true.

(e) Neither conclusion I nor II is true.

In which of these expressions 'S > V' be definitely false?
@ S>P>Q=G2=R>V (SBI PO Main 2016)
(b) P<A<S<T;V=0>T

() V<A<L=R<S

(d S>C>=F<H;V<F

(& S>T=02P,V<J=P

Which of the following symbols should be placed in the
blank spaces respectively(in the same order from left to
right) in order to complete the given expression in such a
manner that both 'D>S' as well as 'E<B' definitely holds
true?

B ASED (SBI PO Main 2016)
(a) >’ Z’ <’ = (b) >) >’ Z’ <
(C) Z’ Z, Z’S (d) Z, =, Z’<

(e) Other than those given as options

In Which of the following expressions does the expression
'L<T" to definitely hold true? (SBI PO Main 2016)
(@ K>L>R=P<S<T (b) U>2T>M=F<A>L
(¢) L>2C>Q2B=N<T (d) G=L=A<B<S<T

() T>E=G>=W=Y>L

Which of the following expressions is true if the expression
P<T<=Q>S>M>=W is definitely true?

(SBI PO Main 2016)
(@ W<P (b) S<P
© M>P d w<Q
) T<M

Which of the following expression is true ?
Statements: Y<K <D=S§;D<V<0;G>D<Q
Conclusions: . G>V,IL.Y<Q (SBI PO Main 2016)
(@) Onlylistrue (b) OnlylIlistrue

(¢) EitherIorIlistrue (d) Neither Inor Il is true
(¢) BothIandIIaretrue



197.

198.

199.

200.

201.

What should come in place of question mark in the
expression P>Q ? R<T < S so as to make the expressions
P>R and S>Q always true? (IBPS PO Prelim 2016)
@@ = (b >

(¢) < @ =2

(¢) None of these

What should come in place of question mark in the
expression A=B>C ? D<E =F so as to make the expression
F>C always true? (IBPS PO Prelim 2016)
@@ > b =

© = d <

(¢) Both (b)and (d)

Statements: P=S, P<Q,R<Q,R>T

Conclusions : (1)Q>S (2)Q = T (IBPS PO Prelim 2016)
(@) Only]1 follow (b) Only?2 follow

(¢) Neither follows (d) Both follow

(e) Either follow

Statements: A>N,K>N,K>M,R>M

Conclusions: (1)M=N (2)R>A (IBPS PO Prelim 2016)
(@) Only]1 follow (b) Only?2 follow

(¢) Neither follows (d) Both follow

(e) Either follows

What should come in place of question mark to make B> D
always true? (IBPS PO Prelim 2016)
A=B>C?D<E

@@ > (b <

© = d <

(e) both (a) and (c)

DIRECTIONS (Qs. 202-206): Read the following information
carefully and answer the questions that follows :

(SBI PO Prelim 2016)

P@Q - P is neither greater than nor equal to Q
P%Q - P is neither smaller than nor equal to Q
P#Q - P is not greater than Q

P$Q - P is not smaller than Q

P*Q- P is neither smaller than nor greater than Q

202.

203.

Statements: A@B, B%C, C*D, D$E
Conclusions: 1. B%E II. A%E
(a) Only conclusion I follows

(b) Only conclusion II follows

(¢) Either conclusion I or II follows
(d) Neither conclusion I nor II follows
(e) Both conclusion I and II follow
Statements: A%B, B*C, C#D, D*E
Conclusions: 1. A%C II. E$B
(a) Only conclusion I follows

(b) Only conclusion II follows

(¢) Either conclusion I or II follows
(d) Neither conclusion I nor II follows
(e) Both conclusion I and II follows

204. Statements: A*B, B$C, C#D, D@E

Conclusions: 1. E*A II. C%A
(a) Only conclusion I follows

(b) Only conclusion II follows

(¢) Either conclusion I or II follows
(d) Neither conclusion I nor II follows
(e) Both conclusion I and II follow

205. Statements: A$B, B$C, C*D, D@E
Conclusions: 1. ASE IL E%C
(@) Only conclusion I follows
(b) Only conclusion II follows
(¢) Either conclusion I or II follows
(d) Neither conclusion I nor II follows
(¢) Both conclusion I and II follow
206. Statements: A%E, E@C, C%B, B*D
Conclusions: 1. C%D IL. B@A
(@) Only conclusion I follows
(b) Only conclusion II follows
(¢) Either conclusion I or II follow
(d) Neither conclusion I nor II follows
(¢) Both conclusion I and II follow

DIRECTIONS (Qs. 207-211) : In the following Questions, $, X,
%, @ and © are used with the following meaning as illustrated
below

(IBPS PO Main 2016)
A x Bmeans A is not greater than B
A @ B means A is neither greater than nor equal to B
A © Bmeans A is not smaller than B
A % B means A is neither smaller than nor greater than B
A $ Bmeans A is neither smaller than nor equal to B
207. Statement: X xW,W@Z,Z%Y
Conclusion:
LYSW ILZ$W ILXOY
(@) Onlylistrue (b) Onyllistrue
(¢) BothlandIlaretrue (d) BothIand III aretrue
(¢) Noneis true
208. Statement:DSE,EOC,C @A
Conclusion :

I. CxD . ASE
M A$D
(@) Onlylistrue (b) Onyllistrue

(¢) BothlandIlaretrue (d) BothIand III aretrue
(¢) Noneis true
209. Statement: M @O,0%P,PON

Conclusion:

L POM IL N@O

Im N%O

(@) Onlylistrue (b) Onyllistrue

(¢) BothIlandIllaretrue (d) Either Il or Il is true
(¢) Noneis true

210. Statement :A©C,C$B,B%E
Conclusion :

I E@C I. B@A
M AO©CE
(@) Onlylistrue (b) Onyllistrue

(¢) BothlandIlaretrue (d) BothIand III aretrue
(¢) Noneis true

211. Statement:POS S$R RxQ
Conclusion :

L Q$S I. R@P
I R%P
(@) Onlylistrue (b) Onyllistrue

(¢) BothlandIlaretrue (d) Either Il or Il istrue
(e) AllL Il andIII are true



DIRECTIONS (Qs. 212-214): In the given questions, assuming
the given statements to be true. Find which of the given two
conclusions numbered 1, II is/are definitely true and give
your answer accordingly.

(SBIPO Prelim2017)
212. Statement: M>U>L<N;L>Y>A
Conclusions:
L Y<N I. Y=N
(@) BothlandIlaretrue (b) Onlyll

(¢) Onlylistrue (d) EitherIor ILis true.
(¢) Noneis true.

213. Statement: ] >A>D=E; L<A<M
Conclusions:
L M<J I J>L
(a) Onlyllis true. (b) Either Ior Il aretrue.
(¢) BothlandIlaretrue  (d) Onlylistrue.
(¢) Noneis true.

214. Statement: M<K>L=Y;P <T>M

Conclusions:
L P>Y . T<L
(@ Onlyllistrue (b) Onlyl

(c) EitherIorIlaretrue (d) Both I and II are true

(¢) None is true

DIRECTIONS (Qs. 215-219): In these questions, relationships
between different elements are shown in the statements. These
statements are followed by two conclusions. Give answer

(IBPS RRB O/S-1 Prelim 2017)
(a) ifonly conclusion I follows
(b) if only conclusion II follows
(¢) ifeither conclusion I or conclusion II follows
(d) ifneither conclusion I nor conclusion II follows
(e) ifboth conclusions I and II follow
215. Statement: R>S>T>U>X; T<V<W

Conclusions:

I R>X oL X<W
216. Statement: E=F<G<H;G>I

Conclusions:

I H>I II. E>I
217. Statement: A>B>F>C;D>E>C

Conclusions:

I C<A 0. B>D
218. Statement: K<L<M=N;P>0O>N

Conclusions:

I. K<P II. K=P
219. Statement: D<E<F<G;K>F

Conclusions:

L K<G . K>D

220. Which of the following expressions will be true if the
expression V< W <R > N = S > M is definitely true ?
(RRB Scale-2 2017)
(a R<V
(b) R=N
(¢ R>N
(d) Either R=Nor R> N
(¢) None of these
221. Which of'the following expressions will not be definitely true
for the given expression V>2W2> T<U=S 2R>M>X?
(RRB Scale-2 2017)

@@ V=T
() S>M
(¢) None of these

DIRECTIONS (Qs. 222-226): In each of the following questions,
assuming the given statements to be true, find which of the
following two conclusions I and Il is/are definitely true. Give
answer:

b)) W>U
d S>X

(IBPS RRB PO Prelim 2017)

(a) ifonly conclusion I is true.

(b) if only conclusion II is true.

(c) ifeither IorIl1is true.

(d) ifneither I nor Il is true.

(e) ifboth Iand II are true.
In these questions, relationship between different elements is
shown in the statements. These statements are followed by two
conclusions. Mark answer—

222. Statement: P<F, L=K,N=P F>L,

Conclusions:
I F=K
II. F>K

223. Statement: C>G Q>R,J>C, Q=7,G=>Q
Conclusions :

. G2>Z
. C>R
224, Statement: D>C,A>B>C D>E>F,
Conclusions:
L E>C
. F>B

225. Statement: M>N, K<L, N>0O,K>M,
Conclusions :

I O<M
II. O<K
226. Statement: E<F<G=H>S
Conclusions:
IL. G>S
II. F<H

DIRECTIONS (Qs. 227-231): In these questions, a relationship
between different elements is shown in the statements. The
statements are followed by two conclusions. Give answer

(IBPS PO Prelim 2017)
(a) Ifonly conclusion I is true.
(b) Ifonly conclusion II is true.
(c) Ifeither conclusion I or Il is true.
(d) Ifneither conclusion I nor Il is true.
(e) Ifboth conclusions I and II are true.
(227-228):
Statements: L>1=N>P;I>R>K;N<E<Z
227. Conclusions:

I E>P II. R<L
228. Conclusions:

I. K>N oL 1<z
(229-230):

Statements: S>A=N>D;A>L>E; M<L<D
229. Conclusions:

I S>E II. L<S
230. Conclusions:
I A>M 0. A=M



231. Statements: P>V>R<E<Y;G>E>N
Conclusions:
I. P>N I G>Y

DIRECTIONS (Qs. 232-236): In these questions, a relationship
between different elements is shown in the statements. The
statements are followed by two conclusions. Give answer:

(IBPS SO IT Prelim 2018)
232. Statements: [>J=K<L M<N<O=P<Q>K
Conclusions: 1. L>J II. L=J
(a) Only conclusion I is true
(b) Only conclusion II is true
(¢) Either conclusion I or II is true
(d) Neither conclusion I nor Il is true
(¢) Both conclusion I and II are true
233. Statements: [>J=K<L M<N<O=P>Q>K
Conclusions: I. I>K II. Q>J
(a) Only conclusion I is true
(b) Only conclusion II is true
(¢) Either conclusion I or II is true
(d) Neither conclusion I nor Il is true
(¢) Both conclusion I and II are true
234, Statements: A=M>P, N>R A>T
Conclusions: 1. T=P IL. R<A
(a) Ifonly conclusion I follows.
(b) Ifonly conclusion II follows.
(¢) Ifeither conclusion I or conclusion II follows.
(d) Ifneither conclusion I nor II follows.
(e) Ifboth conclusion I and II follow.
235. Statements: X=M<A<S=T<R
Conclusions: . M=T ILR>A
(a) Ifonly conclusion I follows.
(b) Ifonly conclusion II follows.
(¢) Ifeither conclusion I or conclusion II follows.
(d) Ifneither conclusion I nor II follows.
(e) Ifboth conclusion I and II follow.
236. Statements: Y>A<N, Y=B<P
Conclusions: . P>A II.N>B
(a) Ifonly conclusion I follows.
(b) Ifonly conclusion II follows.
(¢) Ifeither conclusion I or conclusion II follows.
(d) Ifneither conclusion I nor II follows.
(e) Ifboth conclusion I and II follow.

DIRECTIONS (Qs. 237-241): In these questions, relationship
between different elements is shown in the statements. The
statements are followed by conclusions.

(SBI PO Pre 2018)

Give answer

(a) : If only conclusion I is true

(b) : If only conclusion II is true

(c) : If either conclusion I or II is true

(d) : If neither conclusion I nor II is true

(e) : If both conclusions I and II are true
237. Statements: A>B=C;B>D>E;D>F<G

Conclusions
I A>E
II. F<B
238. Statements: L>M=N>02>P; S<R<Q<P
Conclusions
I L>S
II. N>P

239. Statements: A>B>C<D; E>F>G=A
Conclusion :
I F>D
. D>F

240. Statements: P>Q=R;S=T<V>P
Conclusion :
I. P<S
. Q<T

241. Statements: L>M>N2>0; P>N2>Q
Conclusion :
I L>P

I L>Q
DIRECTIONS (Qs. 242-246): In these questions, a relationship

between different elements is shown in the statements. The
statements are followed by two conclusions. Give answer

(IBPS PO Pre 2018)
242, Statement: M<N<T>Q<R,P<J<M2>S>0
LO<R ILP>Q

(a) if only conclusion II is true.
(b) ifonly conclusion I is true.
(¢) ifneither conclusion I nor Il is true.
(d) ifeither conclusionI or Il is true.
(e) ifboth conclusions I and II are true.
243. Statement: F <L<J<X<T<R,P>X<M<G
LF<M II.R>P
(a) ifboth conclusion I and Il are true.
(b) ifonly conclusion I is true.
(¢) ifneither conclusion I nor II is true.
(d) ifeither conclusionI or Il is true.
(e) if only conclusion II is true.
244. Statement: M<N<T>Q<R,P<J<M2>S>0
.LO>2Q I.J>Q
(a) if only conclusion II is true.
(b) ifeither conclusionI or Il is true.
(¢) ifneither conclusion I nor II is true.
(d) ifonly conclusion Iis true.
(e) ifboth conclusions I and II are true.
245. Statement: F<L<J<X<T<R,P>X<M<G
L. T>L II.G>F
(a) if only conclusion II is true.
(b) ifonly conclusion I is true.
(¢) ifneither conclusion I nor Il is true.
(d) ifeither conclusionI or Il is true.
(e) ifboth conclusions I and II are true.
246. Statement: J>K>H=U>B<T<F<R
1.LJ>B IL. H<R
(a) if only conclusion II is true.
(b) ifeither conclusion I or Il is true.
(¢) ifneither conclusion I nor Il is true.
(d) ifonly conclusion I is true.
(e) ifboth conclusions I and II are true.

247. Which of the following symbols should replace the sign
($) and (&) respectively in the given expression in order to
make the expression L > U and R > J definitely true?

L>K>P=N=J$U<A&R (IBPSClerk Main2019]
(@ <= ®b) <,<

(9 >=< @ =<

© 2<



248. Which of the following will be definitely true if the given
expression A> U >B=N<C=P<D<Ris definitely true?

(IBPS Clerk Main 2019)
(@ A<C (b) U>B
(¢) R>N (d R>B
(e) A<P

DIRECTIONS (Qs. 249-253) : In these questions, relationship
between different elements is shown in the statements. The
statements are followed by two conclusions.

(IBPS PO Prelim-2019)

Give answer

(@) Ifonly conclusion I follows
(b) Ifonly conclusion II follows
(¢c) Ifeither conclusion I or conclusion II follows
(d) Ifneither conclusion I nor conclusion II follows
(e) Ifboth conclusions I and II follow
249. Statements :
M<N<O<P<R<S
Conclusions :
L 0<S IL
250. Statements :
C=G<B<L>P=Q
Conclusions :
I Q<B IL
251. Statements :
M<N>PM>T=L<Q
Conclusions :
. L=N IL
252. Statements :
A>B<C=D<E,C>F=G>H
Conclusions :
L G<E IL
253. Statements :
N=0>Q,P=M<0O<B
Conclusions :
I N<P II. Q<N

DIRECTIONS (Qs. 254-255): Read the following information
carefully to answer the question.

M<R

Q<L

T>N

A>H

(IBPS PO Main-2019)
254. Statement: DSN<K<R;S<K<Q;N>Y<Z

Conclusions:
L R>Y
. Q<D
m S>Y

(@) OnlylandII follow
(¢c) OnlylII follows
(¢) None of these

255. Statement: T>M>W<V<D>G;E>B>V,L>M<S=U

(b) OnlyII follows
(d) OnlylandII follow

Conclusions:
I S<D
. T<B

m WwW<D

(@) OnlylandII follow
(b) Onlyl follows

(¢) Onlyland III follow

(d) OnlylIII follows

(¢) None of these
DIRECTIONS (Qs. 256-258): In each of the question, relation-
ships between some elements are shown in the statements.

These statements are followed by conclusions numbered I and II.
Read the statements and give the answer.

(SBI Clerk Prelim-2019)

(a) Ifonly conclusion I follows.
(b) Ifonly conclusion II follows.
(c) Ifeither conclusion I or II follows.
(d) Ifneither conclusion I nor II follows.
(¢) Ifboth conclusions I and II follow.
256. Statements:P>Q>R=S>T<U<V
Conclusions: I. T<Q
II. V>T
257. Statements: A<C<E=F; B2E<D2>G
Conclusions: I. B>A
II. G<C
258. Statements: A>B=D>E; C<B=G>H
Conclusions: . H<E
II. C<A

DIRECTIONS (Qs. 259-263): In the following questions, the
symbols %, ®, #, X and @ are used with the following meaning
as illustrated below-

(SBI Clerk Main-2019)
‘A#B’ means ‘A is not greater than B’
‘AxB’ means ‘A is neither equal to nor smaller than B’
‘A%B’ means ‘A isnot smaller than B’
‘A@B’ means ‘A is neither smaller than nor greater than B’
‘A®B’ means ‘A is neither greater than nor equal to B’
Now in each of the following questions assuming the given
statement to be true, find which of the conclusions given below
them is/are definitely true and give your answer accordingly.
(a) Ifonly conclusion I follows.
(b) Ifonly conclusion II follows.
(¢) Ifeither conclusion I or II follows.
(d) Ifneither conclusion I nor II follows.
(e) Ifboth conclusions I and II follow.
259. Statements: UxV%W%X®RY@Z
Conclusions: I. U% X
I. X®Z
260. Statements: A#BxCxD®E
Conclusions: 1. AxD
I. D®B
261. Statements: M % NxO%P;0OxR%S
Conclusions: 1. Q®M
IL SxN
262. Statements: B#D®F#GxH%C
Conclusions: 1. B®G
I. G@B
263. Statements: J% K®L#M;KxO0@P
Conclusions: 1. P®M
II. JxK



DIRECTIONS (Qs. 264-268): In each of the question,
relationships between some elements are shown in the
statements. These statements are followed by conclusions
numbered I and II. Read the statements and give the answer.

(IBPS RRB PO Prelim-2019)
(a) Ifonly conclusion I follows.
(b) Ifonly conclusion II follows.
(c) Ifeither conclusion I or II follows.
(d) Ifneither conclusion I nor II follows.
(¢) Ifboth conclusions I and II follow.
264. Statements: D<L=F<R<M=P2>T
Conclusions: I. P=D
II.D<P
265. Statements: X>B=S>K<I<M<C
Conclusions: . K <X
II.B>1
266. Statements: E<O<K=S>A>P>T
Conclusions: I. T<K
II.LE<A
267. Statements: G<B=H<C=D2>S>T
Conclusions: I. S>B
I.G>T
268. Statements: J>O=T>E>K>G>P
Conclusions: I. G<O
II.J>K

DIRECTIONS (Qs. 269-270): Relationship between different
elements is shown in the statements. Find if the conclusions also
follow or not.

(IBPS RRB PO Main-2019)
269. Statements: S>K>X<C=N<Q>A

Conclusions:
L X=>Q

I A>X
m N<K

(a) onlylI follows
(b) onlyII follows
(¢) either I or II follows
(d) None follows
(¢) both Iand II follow
270. Statements: M<W<U<A=T>V2>S

Conclusions:
I T>W
II. A=S

M. S<A

(@) Onlyl follows

(b) OnlyII follows

(¢c) Onlyl either II or III follows
(d) Neither I nor II follow

(¢) BothIand II follow

DIRECTIONS (Qs. 271-274): In each of the question,
relationships between some elements are shown in the
statements. These statements are followed by conclusions
numbered I and II. Read the statements and give the answer.

(IBPS RRB Clerk Prelim-2019)
(a) Ifonly conclusion I follows.
(b) Ifonly conclusion II follows.
(c) Ifeither conclusion I or II follows.
(d) Ifneither conclusion I nor II follows
(¢) Ifboth conclusions I and II follow..
271. Statements: Q<R<M=L>W<V>Z

Conclusions:

L L>Q . W>R
272. Statements: P>Q>D=F<R<S

Conclusions:

L Q>R II. D<S
273. Statements: A=E>H>C<S<B

Conclusions:

I C<A L. A=C
274. Statements: Y>N=0>P<R>T

Conclusions:

I R<Y II. N<R

DIRECTIONS (Qs. 275-277): In these questions, relationship
between different elements is shown in the statements. These
statements are followed by two conclusions. Mark answer

(IBPS Clerk Main-2020)

(a) Ifonly conclusion I follows.
(b) Ifonly conclusion II follows.
(c) Ifeither conclusion I or II follows.
(d) Ifneither conclusion I nor II follows.
(e) Ifboth conclusions I and II follow.

275. Statements: A>B<C=D<E,C>F=G>H
Conclusions: . GSEII.A>H

276. Statements: H>T>S<Q,T>U=V>B
Conclusions: . V>SII. B<H

277. Statements: A<R<T=S; T<Y<O; G>T<Q
Conclusions: . G>Y IL. A<Q




Answers & Explanations

(b) H@T =>H>T

T#F =T<F

F6E =F=E

EXV =E<V
Therefore, H>T<F=E<V
Conclusions
L VS$F =V2>F : True
I. EQT=E>T : True
. H@V =>H>V : NotTrue
IV. T#V =T<V : True
So conclusion I, I & IV follow
() D#R =D<R

R¥* K =>R<K

K@F =K>F

F$J =F2>]
Therefore, D<R<K>F2>]
Conclusions
I J#R =J<R : NotTrue
II. J#K =J<K : True
M. R#F =R<F : NotTrue
IV. K@D=K>D : True
So only conclusion II & IV follow
(¢) N6B =N=B

BSW =>B>W

W#H =>W<H

H* M=H<M
Therefore, N=B>W<H<M
Conclusions
I M@W=>M>W : True
I. H@N=>H>N : NotTrue
I W&N =>W=N . NotTrue
IV. W#N =>W<N : NotTrue

W is either smaller than or equal to N. Therefore either III or [V
9 (a

and I are true.
(@ R¥*XD=R<D, D$J=D>]

J#M =J<M, M@K=>M>K

Therefore, R<D>J<M>K

Conclusions

I K#J =K<J : NotTrue
I. D@M=>D>M : NotTrue
Im R#M =R<M . NotTrue
IVv. D@K =D>K :  NotTrue

So none of the conclusion follows
() M$K =>M=K

K@N=K>N

N %X R =>N<R

R#W = R<W
Therefore M>K>N<R<W
Conclusions
I W@K=>W>K : NotTrue
I.. M$R =>M=R : NotTrue
M K@W=K>W : NotTrue
V. M@N=>M>N : True

So, only conclusion IV is true.
(d R*K =R<K
K% D=K>D

7. (b)

8 (@

10. (e)

D@V=D=V
VoM=>V<M

Therefore, R<K>D=V<M
Conclusions

L. R*D=R<D:NotTrue
II. V¥R=V<R:NotTrue
. D@M=D=M:NotTrue
V. M%D=M>D:NotTrue
D is either smaller than or equal to M.
Therefore, either I1I or IV follows.
F%N=F>N
NOW=N2W

WY =>W<LY

Y*T=>Y<T

Therefore, F>N>W<Y<T
Conclusions

L F%W=F>W:True

. T% N=T>N:NotTrue
Il N%Y=N>Y:NotTrue
N T%W=T>W: True
So, only conclusion I and IV follow
BOT=>B>T

T*R=>T<R

R%F=R>F

F@K=F=K
Therefore, B>T <R>F=K
Conclusions

I B%R=B>R:NotTrue
. F*T=>F<T: NotTrue
I R%K=R>K:True

IV K*T=K<T: NotTrue
So only conclusion III is true.
J@F=>J=F

FON=F<N

N%H=>N>H
HOG=>H>G

Therefore, J=F<N>H>G
Conclusions

I G*N=G<N: True

. NOJ=>N2=J True

M F*J=F<J:NotTrue
V. J8G=J<G: NotTrue
So only conclusion I and II follow.
D8T=D<T

T@R=>T=R
ROM=R>M
M%K=>M>K

Therefore, DST=R>M>K
Conclusions

L R@D=R=D: NotTrue
II. R%D=R>D: NotTrue
R s either greater than or equal to D.



11.
16.
21.

Therefore, either I or I1 is true. 28. (a H%F—=H>F
M K*T=K<T:True l;v*$V]\5/=>v5<gV
IV MST=>M<T: True A

© 2 (© B @ 4 ® 15 @ Therefore, H>F<W=E
17 18 4 19 0. (b Conclusions :

H*K:>fl§K . H§ W=H>W (False)
K § N> K<N = gg))

NSW=>N>W ’ .

Therefore, H < K <N >W 31. (d) Accordingly, F@N = F<N
Conclusions : ~

L N$H=N>H(True) E?@RR = Her
IL W § H= W <H (False) F<N>R>H_

(d) Statements : Conclusion: 1. H8N = H>N [not true]
H?KDHEK I. F#R = F<R [not true]
K%R=K=R 32. (b) Accordingly,

R § N=>R<N M#T = M<T

Therefore, H>K=R<N T@K = T<K

Conclusions : K$N = K=N

L N ©K = N> K (False) s M<T<K>=N

.~ R%H=R=H(False) Conclusion: 1. M#N = M<N [not true]

(c) Statements: I KSM=K>M [true]

R§T=R>T Only conclusion 11 is true.

TOM=T>M 33. () Accordingly,

M%JI=>M=] T%H = T=H

Therefore, R>T>M=] H$SW = H>W

Conclusions : . T=H>W

I. J%T= J=T (False) ] " Conclusion: 1. W#T =W<T [true]
ither _

IL J 5 T=J<T (False) L WHT=W=T or

(6) Statements: “ K’elthz( colnclusmn Ior Il is true. [true]
B§A=>B<A . (@) Accor mgy,N6K L NeK
AxM=A<M K#D = K<D
wOoM= WM D%M= D=M
Therefore, B<KA<M<W
Conclusions : . &+ N>K<D=M
I WS$B=W>B(True) Conclusion: . MJOK = M>K [true]
I. A*W=A<W True) IL DSN = D>N [not true]

(b) Statements : Only conclusion I is true.

B%T=>B=T 35. (e) Accordingly,

TOM=>T=M J$B = J=B
M*D=>M=D B%R= B=R
Therefore, B=T>M<D RSF = R>F
Conclusions : _

I DOB=D>BFalse) ~ J2B=R>F

. M*B=>M<B(True) Conclusion: 1. F#B = F<B [true]

(b D§T:>D=T I. R@J=R<]J [true]
&{;’ }\43:;} EJM Both conclusions I and I are true.
Therefore, D=T >M<]J 36. (d) Inthe expression A>B >C [=] D <E = F to make
Conclusions : A>DtrueandF > Ctrue.

L J§ D=J>D (False) 37. (a) Tryingoption (a)
. MOD=M<D(True) P>Q=R<T<S

(¢) B*K=>B<K P>R
§§/NR:>I§\I=>I\IIK R<SAsQ=RsoQ<S

oR=1N2 _ Both the expressions are true in option (a)
Therefore, B<K=N>R 38 A<L<T<R<H>K
Conclusions : - @ C l< s
I R$K=R=K (False) s i‘?‘%‘r‘zé

] Either

II. R * K= R <K (True) II. K>T : Not True



39.

41.

4.

43.

45.

47.

48.

49.

35.
57.

58.

59.

@

(b)

@)

@

©

@

©

©

(@

(@

©
©)
(@

(b)

©

P=N>D>G<B=]J
Conclusions:
. G<P:True
II.G<J:True
F<C>V=Z>X=U
Conclusions:
1. V<U:NotTrue
II. Z<F : Not True
Q<E=I>N2>=R2>S
Conclusions :
I.LE=S:Not True
II. S<N:True
H>I=J>K<L
Conclusions:
. K<H:True
II. L>I:NotTrue
S>C=0
S>C>P
P<C=0
Conclusions :
I. O<P:NotTrue
I. S<P:NotTrue
R<A=B<C
Conclusions :
. B>R:True
II. R<C:True
D>E<F>]
Conclusions :
I. D>J:NotTrue
II. E<J:NotTrue
P<Q<R
R>Q>T
Conclusions :
.. R>P:True
II. T<R:True
As()U>X @) T>U
Hence T > X
AsR>T SoR>X — I8 follows
As(W>T @) T>X
Combining, we get W> X — II" follows.
As()H>G (1) G=>1
Combining, we get H>1 — I8 follows.
As(i))G>I(1)G>E
Combining, we get E >1not possible.
As(i)A>F (i) F>C
So A>C — Iftfollows
5. (b)) 352 (e) 53. (e)
56. (e)
Statement : O<R<K>I>T2>E
Conclusions : L R<E(X)
IL O<T(X)
Statement: C<L<O=U=D2>S>Y
Conclusions : 1L O>Y (V)
I. C<D ()
Statement : K>L>M2>N
Conclusions : 1 N<K(X)
IL. N<K (¥)

4. (e)

6l.

62.

63.

(d) Statement:Z>Y=W<X
Conclusions: [ W < Z (v)
LW=2Z(v)

(d) Statement: B>A>S<I>C>L>Y

Conclusions : L B>L(x)

IL A>Y(X)

(b) Conclusions :

.  Z>C:NotTrue

II. B<Z:True

So only conclusions II follows.
(a) Conclusions :

. B<C: True

II. R>C:NotTrue

So, only conclusions I follows.

} Either

Sol. (64-65):

65.

67.

69.

P>Q>T
R>Q
T>A
P>Q>T=A
P>Q <R
R>Q>T=A
(a) Conclusions :
L  A<Q:True
II. A<P:NotTrue
So, only conclusions I follows.
(¢) Conclusions :
. T<P:True
II. R>A:True
So, both the conclusions I and II follow.
d P>T=U<W
Q=2R>W
P>T=U<W<R<Q
Conclusions :
I. T=R:NotTrue
II. U<R:NotTrue
So, None of the conclusion follows.
(c) Statements:
R@J =>R<J
FXJ] =F2>]
CZF =C>F
Therefore,
R<J<F<C
Conclusions:
I. ROC=R=C:True
:l Either

II. C#R=C >R :True

So either conclusion I or 11 is true.
(a) Statements:

W@P >W<P

W#E = W>E

EAV =E<V

Therefore,

V>E<W<P

Conclusions:

I P#E= P>E:True

II. VOW=V=W:NotTrue

So, only conclusion I is true.
(e) Statements:

JOR=J=R

PZXR=P>R



70. (@)

71. ()

72. (e)

73. (@)

74. (a)

75. (a)

ZHP=>Z>P

Therefore,

J=R<P<Z

Conclusions:

I RAZ=R<Z:True
I. J@P=J<P:True
So, both the conclusions I and II are true.
Statements:
G@0=G<0
NOO=>N=0
H#G=>H>G

Therefore,

H>G<O=N

Conclusions:

I OAH=O0O<H:NotTrue
II. GON=G=N:NotTrue
So, none of the conclusion follows.
Statements

QAB=Q<B
MOB=>M=B
KEIM=K>M

Therefore,

Q<B=M<K
Conclusions:

I KO©B=K=B:NotTrue
I.. QAK=Q<K:True
E<F < G=H>S
Conclusion

[:G>S:True

Conclusion

II:F < H: True

P< Q< W=L

Conclusion

I:L>P:True

Conclusion

I1:Q < L:False

VY= V=Y
Y@Z=>Y2Z
Z%X=>Z<X
X#T=>X>T

From all above statements,
V=Y2Z<X>T
Conclusions

L T#Z=T>Z(False)
. X#Y=>X>Y (False)
M. Z*Y=Z<Y (False)
None follows.
R@J=>R2J
J%F=J<F
FXE=F<E
E%M=E<M

From all above statements, R>J<F<E<M

Conclusions

L M#J=>M>](True)
. F%M=F<M  (False)
M. M * R=M<R(False)
Only (I) follows.

76. (b)

77. (¢)

78. (e

79.

80.

8l

82.

8.

(b)

©

(@

@

@)

(b)

H#R=>H>R
R@L=>R>L
L*W=L<W
W%F=W<F

From all above statements, H>R >L < W <F

Conclusions

L  H#L=H>L(True)
I. F#L=F>L(True)
. H$F=H=F (False)
M#K=>M>K
M$F=>M=F
F%Q=F<Q
Q*H=Q<H

From all above statements,
K<M=F<Q<H
Conclusions

L  H#K=H>K(True)
. Q#K=Q>K(True)
I Q@M=Qx>M(True)
So, all follow.
D*Q=D<Q
Q$L=Q=L
L#T=>L>T
T%H=T<H

From all above statemens,
D<Q=L>T<H
Conclusions

I. D% L=D<L(True)
II. L@ H= L2>H (Not true)

Eith
L H@L=H>L(Nottrue)d "

Only (I) and either (II) or (III) follow.
A>B=C<D<E
Conclusions

I D>A:Nottrue
II. E>C:True
L>U>Z

R>U>K
Conclusions

L L>Z:True

II. K<R:True
Y<J=P>R>I
Conclusions

L J>I:True

II. Y<R:NotTrue
T<K>M=N
V>K>M=N>S
S K>TorN
Conclusions

I. T<N:Nottrue
II. V=S:Nottrue
F<X<E
F<X>R
Conclusions

I F<E:True

II. R<F:Nottrue
B>V..(1)K<C..%GH);, C<B..(i)

No relationship can be find out between V and C.

Hence I does not follow.
From (ii) and (iii), B> K. Hence II follows.



85.

86.

&7.

88.

9.

91.

93.

95.

()
©

()
©

(b)
©
©)

@)

©

(b)

K>T ..(); §=K ..(i); T < R ..(iii)

Neither relationship S > R nor 7= R can be established.
U=M.(G) p>U ..(ii); M > B ...(iii)

Combining, weget P>U=M >B=>P>B

= P=BorP>B

L>N ..(); J< P ..(i); P> [ ..(iii)

Neither relationshipJ = L nor P = N can be established.
H>G ..()); D> E ..(i); H =E ..(ii})
Combining, weget D>E=H > G

= D> H and G < D are follow.

N6B=>N=B
BSW=B>W
W#H=>W<H

H* M=>H<M

Therefore, N=B>W<H<M
Conclusions

I: M@W=>M>W,True
II: H@N=H>N;False
II: W3N=W=N; either true
IV: W#N = W <N; either true
W is either smaller or equal to N. Therefore, either I11
or [V is true.

R*D=R<D

D$J=>D2>J

JEM=>J<M
M@K=>M>K

Therefore, R<D>J<M>K
Conclusions

I K#J=K<]J;Nottrue
. D@M = D>M;Nottrue
M. R#M = R<M; Not true
IV. D@K=D>K;Nottrue
M$K=>M=K
K@N=K>N

N * R=>N<R
R#W=R<W

Therefore M>K>N<R<W
Conclusions,

I W@K=W>K;Not True
I. M$R=M2=R; Not True
M. K@W=K>W;Not True
NN M@N=M>N; True

Statements

O>F>E>P=R

Conclusions

L O$P->O=P (False)
. EGR—->E>R (True)
m P£O—->P<O (False)
Statements

E>D=A>B<C

Conclusions

L E*B->E>B (True)
I. C$A—>C=A (False)
M. D@E—>D<E (False)

9. (b)

9%. ()

1 ()]

100. (a)

101. (¢)

102. (b)

Statements
I>H=T>S<R
Conclusions
L I*T>I>T
L L> J:| Either

O ISToI=TLL=]J

m S*H—-»>S>H (False)
Statements
S<T<N=Q>0
Conclusions

L S$N—->S=N
I. N®O—>N>0
Mm N*O—->N>0
Statements
H>J>K=L K<M
Conclusions

I KEM->M>K
I. L$J>L=J
I H®L—->H>L
D eR=D<R
R#M=>R<M
M@K=M=K
K% F =>K>F
Therefore,
D<R<M=K>F
Conclusions:

I F$M=F>M:NotTrue
I. K@R=K=R:NotTrue
Im K%R=K>R:True

V. D@M=D=M:NotTrue
R$B=R>B

B@A=>B=A
A%K=A>K
K#M=>K<M

Therefore,

R>B=A>K<M
Conclusions :

I M%A=M>A:NotTrue
I. K$B=K2>B:NotTrue
. A%R=A>R:NotTrue
IV K#R=K<R:True
Only conclusion IV follows.
D#M=D<M
M$R=>M=>R
R@J=>R=]
W%I=>W>]

Therefore,

D<M=R=J<W
Conclusions :

I W%R=W>R:True
I M$J=>M2>J:True

. R%D=R>D:NotTrue
N W%M=W>M:Not True
Only conclusion I and II follow.
W@T=>W=T
TSN=T=>=N

N#F=N<F

V%F=V>F

(False)
(False)
(True)

(False)
(False)
(False)



Therefore, Conclusions:
W=T>N<F<V I  T>K:True
Conclusions : I. P>O0:True
L V%N=V>N:True Sol. (113-114) :
I WSN=>W2=N:True B>0=K>L
I T$F=T=>F:NotTrue D>K>S
V. V@N=V=N:NotTrue B>0=K>S
So only conclusion I and II follow. D>K=0>L
103. (¢) B%K=B>K S<0=K>L
K#D=K<D 113. (a) Conclusions:
DON=D<N . O<D:True
N@T=N=T II. S<L:NotTrue
Therefore, 114. (b) Conclusions:
B>K<Ds<N=T L L>D:NotTrue
Conclusions: I B>S True
L N%K=N>K:True 115 () 116 (0 117 @ 18 (9 119 (d)
I. TSD=T>=D:True
] 120 (d) 121. (b) 122. (e) 123. (c) 124. (d)
M K#B=K<B:True 125
. . (d) 126, d) 127. (@) 128. (b) 129. (b)
NV T%K=T>K:True
. Sol. (130-134) :
104. (¢) Conclusions: P$SQ = P>Q
L 1<0O:True g
. P@Q = P>Q
I. Z>S:True
S P#Q = P<Q
105. (a) Conclusions: _
: P&Q = P=Q
L  Z>1:True
. P*Q = P=<Q
II. S<I:NotTrue
106. (d G<K=0>U>P<S 130. ®) H@T - H>T
Conclusions: T#F - T_<F
I G<U:NotTrue F‘E‘E - F=E
I. S>O0O:NotTrue E*V. —E<V
107. (@) A>L<P<B H>T<F=E<V
P>M Conclusion1:V$F=V>F= True
A>L<P2>M ConclusionIl: E@T=E>T= True
M<P<B Conclusion Il : H@ V= H>V = False
Conclusions: ConclusionIV: T#V=T<V=True
L B>M:True 131. (¢) D#R-D<R
I. A>M:NotTrue R*K-R<K
Sol. (108-109): K@F-K>F
I>M=P>R F$J-F>J
B<P>A D<R<LK>F2>]
IiMiPii Conclusion I:J #R = J<R = False
i;ﬁ:g;R Conclusion 11 : J # K = ] <K = True
il Conclusion III : R #F = R<F = False
B<M=P>R .
S ConclusionIV: K @ D= K>D= True
108. (c) Conclusions: o
L A<I:NotTrue Il 1=A:Not True 132. () N&B=N=B
A is either smaller than or equal to I. B§W=B>W
109. (b) Conclusions: W#H=W<H
I  A<R:NotTrue H*M=H<M
II. B<I:True N=B>W<H<M
110. (@) B>C=D>X2>E Conclusion] :M @ W =>M>W = True
B>C=D<Z Conclusion I : H@N = H>N = False
Conclusions: Conclusion III:W&N=W=N=True:|E. th
L  B>E:True Il. Z=B:Not True Conclusion IV: W#N =W <N=True ther
111. (d) E>F>G<H <I<]J 133. () R*D-R<D
Conclusions: D$J-D>J
L G<E:NotTrue JEM=J<M
I. J>F:NotTrue
. M@K-M>K
112. ¢) K<L<M>N2=0 R<(@l/)>J<M>K
K<L<M<T o .
P>M>N>0 Conclusion I : K#J =K <M= True

Conclusion II: D @ M = D>M = False



134.
139.
144.
145.

146.

147.

148.

149.

150.
151.

152.

153.

154.

155.

156.

157.

158.

©
()
()
©

@

©

@

(b)

@
@

©

(b)

(b)

(b)

@)

©

@)

Conclusion III : R# M = R <M = False
Conclusion IV : D @ K= D>K = False

135. (¢ 136. (d) 137. (c) 138. (a)
140. (e) 141. (a) 142. (d) 143. (a)
Here, Q<R<M<DorD>=M>R>Q
Now, [ DOR —=D>R (True)
II.DOQ =D>Q (True)
Here, M<K>R>P
Now, LP@K = P<K (True)
ILP@M=P<M (False)
Here, T>M=P>R
Now, LR@T = R<T (True)
L TOR=T>R (True)
Here, P<Q>K <M
Now, LM=Q =>M=Q (False)
IMOQ=>M>Q (False)
Here,P>F>N M<F
Now, LMOP —=>M>P (False)
II. N@P = N<P (True)

P=A<R<M=P<M
A>B<C<D>F
Conclusions

I. F>B:NotTrue
II. A>D:NotTrue
P>X>Y=Q>Z
Conclusions

I Z<P:True
L>LH>I>J>K
Conclusions

I. H>L:NotTrue
II. L>K:True
O0>P=Q>R:0>P=Q>S

Conclusions

I. R<S:NotTrue

II. O>S:True

D>E=H>F=G

D>E=H<]J

Conclusions

I. J>D:NotTrue

I. G<J:True

B>J>R>Z

B>J>R>F<W

Conclusions

. J>F:True

II. B>W :NotTrue

E>F=G>T=I

Conclusions :

I I<E:True .

I 1-E.True JEither

Lis either smaller than or equal to E. Therefore, either
conclusion I or II follows.

G>H<T

I>F

H>]J

G>H>]J

J<H<T

II. P>Q:True

159.

160.

161.
166.
167.

168.

169.

170.

171.

(b)

@

@)
(d)
@)

@

(b)

(b)

(b)

Conclusions :

L J<G:True

I. F<H:NotTrue

So only conclusion I follows.

V>W<X<Y

V>W<X<Z

Conclusions :

I. Z>V:NotTrue

II. Y>W:True

So only conclusion 11 is true.

M>N>P

O>P

S<P

M>N>P<O

M>N>P>S

0O>P>S§

Conclusions :

. S<M:True
162. (e) 163.

II. O<M:NotTrue
(©) 164. (a) 165. (d)
Statements W>D<M<P<A=F
Conclusions
I.  F>D —Itfollows.
II. P<W — Itdoes not follow.
So, only conclusion I follows.
Statements H>M>F<A=B>S
Conclusions
.  H>B — Itdoes not follow.
II. F<S — Itdoesnot follow.
Neither Conclusion I nor II follows.
Statements B>T>Q>R=F
Conclusions
L  Q > F = Itdoes not follow because Q > F only.
II. T>F=Itfollows.
Only Conclusion II follows.
Statements S=R>Q,P<Q
. S=R=Q>P
Conclusions
L  S>P=Itdoesnot follow because S> Qand Q>P.
II. R>P=Itfollows.
Only conclusion II follows.
Statements SXM<Y=Z>F>T
Conclusions
L  S>F=Itdoesnot follow.
I. Y>T =Itfollows.
Only conclusion II follows.

Sol. (172-176) :
A#B—>A<B
AOB—>A>B
A%B—>A=B
A$B—>A>B
A@B—A<B

172.

@

L
IL

DOR
D>R

Z#F,
Z<F,
Z<R(x)
D>Z(x)

R@F,
R<F,



173.

174.

175.

176.

177.

(b)

—

(b)

o

©

p—

@

—

@)

Combining the given expressions,
D>R<F>7Z
—

so, neither I nor II is true.
R@D, DOW,
R<D, D>W,
W<R,

D>B

Combining given expressions,
R<D>W2>B

—

can't compare R and W

Thus, I doesn't follow.
R<D>W>B

1
combining

B <W

Again,

R<D>B
Thus, B <D and II follows.
MOR, R%D,
M>R, R=D,
M>N
N=R
Combining all the given expressions,
M>R = DX<N

—_—

combining
M>R =< N

I_.. . .
comparison is not possible

Thus only II follows.
HS$V, V%M,
H>V, V=M,
K>V

M<H

Combining all the given expressions,
H> v=M <K

[ (S——
combining

H>V<K
Thus, I follows.
H> V=M <K

—_
combining

D@N
D<N

KoM
K>M

Again,

H>M<K

Thus, II follows
K#T, T$B,
K<T, T>B,
F>T

K<B

Combining all the given expressions,
K<T>B<F

—_

B@F
B<F

can't compare T and F
Again K<T>B <F
O

can't compare K and B
Therefore, neither I nor II follows.
Only conclusion 1 follows
A<B>C=D>=E (clearly B is greater than E and no
relation between A and E

178.

179.

180.

181.

182.
187.
192.
197.
198.
199.
200.
201.
202.
203.
204.
205.
206.

207.

208.

209.

210.

211.

©

@

(b)

@)

©
(d)
()
@)
©
@)
©
©
@
©
(d)

(b)

©

©

@

©
()

Both conclusion 1 and 2 follow.
A>B=C<=D=E(clearlyAis greater than C and E is
greater than or equal to B)

Neither conclusion 1 nor 2 follows.
A=B>=C<=D<E(clearlyE is not equal toA and C
is not greater than A)

Only conclusion 2 follows

A>=B>=C=D<E (norelation can be made between
A and E and clearlyE is greater than C)

Only conclusion 1 follows

A>E<C>B=D(clearly C>D and No relation between
B and A can be made)

183. (b) 184 () 185. (b) 186. (e)
188. (@ 189. (b) 190. (e) 191. (b)
193. (& 194 (@ 195. (d) 196. (b)

P>Q=R<T <S (Both expression true)
A=B>C=D<E=FandA=B>C<=D<E=F(F>C
true in both cases)
T <R<Q>P=S(clearlyQ>S and no relation between
QandT)
A>N<=K>M <R (norelation between M and N and
RandA)
A=B>C>D<E and A=B>C>=D<E in both cases B
will be greater than D
A<B>C=D>=E (clearly B is greater than E and no
relation between A and E)
A>B=C<=D=E (clearly A is greater than C and E is
greater than or equal to B)

=B>=C<=D<E (clearly E is not equal to A and C is
not greater than A)
A>=B>=C=D<E (no relation can be made between A
and E and clearly E is greater than C)
A>E<C>B=D (clearly C >D and Norelation between B
and A can be made)
X<W<Z =Y
Y > W =>true
Z>W =>true
X2>Y =>false
D>E>C<A
C<D>False
A>E = false
A>D = false
M<O=P2=N
P>M =false
E : 8] Either
A>C>B=E, E <C=>true
B< A=>true, A>E = false
P>S>R<Q
Q>S = false

R<P = true
R =P = false

Sol. (212-214) :

212. (d) EitherLY<N or IL. Y=N
213. (@) J>Listrue.

214. (e) Noneis true.



215. (e) LR>X(True)

II. X< W (True)

So, Both conclusion I and II follow.
216. (@) I.H>I(True)

II. E> I (False)

So, Only conclusion I follows.
217. (@) I C<A(True)

II. B> D (False)

Only conclusion I follows.
218. (¢) LK<Por

ILK=P

Either conclusion I or II follows.
219. (b) L K<G (False)

II. K> D (True)

So, Only conclusion II follows.
220. (d) VSW<R=N=S>M

Check forl. ysW<R >N=S>M

(—

combining

So, option I is not true for the given conditions.

Check for II. VSW <R>N =S>M

combining
So, option II is also not true alone.
Option 111 is also not true alone.
Option (IV). VSW < 1|{_21|\1 =S>M

combining
So, either 'R>N'or 'R =N' holds true.
21 (b) V2W2T<U=S>R>M>X
From option (I)
V>W2>T<U=S>2R>M>X

combining
So, V=T holds true.
V>2W2>2T<U=S>2R>M>X

Comparison is not possible

So, W > U is not definitely true in this expression.

Sol. (222-226) :

222. (¢) N=P<F>L=K
I. Not follow II. Not follow
But Either (I) or (II) is true

223. () J=2C=>2G=Q=Z=R
I. Follow

224. (d) A>B>C<D>E>F
I. Not follow

225.(¢) L>K>M=N>0
I. Follow

226. (¢) E<F<G=H>S
ConclusionI: G>S : True
Conclusion II: F <H : True

Sol. (227-231) :
227. (¢) LE>P(True)
II. R<L(True)

II. Follow
II. Not follow

II. Follow

228.
229.

230.

231.

232.

233.

234.

235.

236.

Sol.
237.
238.
239.
240.

241.

242.
243.
244.
245.

246.
247.

(®)
©
©

@

©

©

@

(b)

@)

I. K> N (False)

IL I<Z (True)

I. S>E (True)

II. L<S(True)

LA>M

ILA=M

So, either I or II is true.

I. P> N (False)

II. G>Y (false)

So, neither I nor 11 is true.

J=K<L

h II:Z {l] Either

I>J=K

L. I>K (true)

Q>K=]

IL. Q> J (true)

A=M>P N>R A>T

L. T =P (false) There is no relation between T and P.
For conclusion II -

A=M>P,N>R

I1. R <A (false) - there is no relation between R and A.
Hence, neither conclusion I nor II follows.
X=M<A<S=T<R

Conclusions:

For conclusion Th: M<A<S=T

L. M=T (false)

For conclusion II :

A<S=T<RIL R>A(True) - Ris greater than A.
Hence, only conclusion II follow.
Y>A<N,Y=B<P

P>B=Y>A<N

For conclusion 1:

P>B=Y>A

P>Y>A

I. P> A (True) P is greater than A is true.

For conclusion II :

B=Y>A<N

I1. N > B (false) There is no relation between N and B.
Hence, only conclusion I follow.

(237-241):

©
©
©

I. A>E (True) II. F<B (True)
ILL>S (True) I. N>2P (True)
LF>D (False)y IL.D>F (False)

(d) I P<S (False) II. Q< T (False)
(b) 1. L>P (False) II.L>Q (True)

©
()
©
(d)
(d)

)

I. O <R (false) II. P>Q (false)
L F<M (True) II. R>P (false)
. O>Q (false) I.J>Q (false)
LT>L (Truey ILG>F (True)
I. J<B (True) II. H<R (false)

248. (¢)

Sol. (249-253):
29. () M<N<O<P<R<S

I. O<S (True)
II. M<R (True)



250.

251.

252.

253.

Sol.
254.

255.

Sol.
256.

257.
258.
259.
260.
261.
262.
263.
264.

265.

266.

267.

(b) B<L>P=Q=B>Q
L>P=Q =L>Q

(d N>M>T=L =>N=L
N>M>T =>T>N

(@ E>D=C>F=G =>G<E
A>B<C>F=G>H=>A>H

(b) P=M<O=N=P>N
N=0>Q=N>Q

(254-255) :

(d) OnlyIand II follow
R>Y(Y<N<K<R) TRUE
Q=D(D<N<K<Q) TRUE
S>Y(Y<N<K>S) FALSE

(d) OnlyIand II follow
S<D(S>m>W<V<D)
T<B(T>M>W<V<B<E)
D>W(W<V<D)

(256-258):

(¢) L T<Q(True)

II. V>T (True)

(@ 1 B>A(True)
II. G<C (False)

(b) L. H<E (False)
II. C<A(True)

) L U% X (False)
. X®Z(True)
(b) L A xD (False)
II. D® B (True)
(@ L O® M (True)
II. S x N (False)
(@ L B®G(True)
II. G @ B (False)
(@ L P ®M (True)
II. Jx K (False)

(¢ DSL=F<R<M=P2T

(False)
(True)
(False)
(False)
(True)
(False)
(False)
(True)

FALSE
FALSE
TRUE

Conclusion: I: DSL=F<R<M=P

P=D (False)
II. D <P (False)

But it is a complimentary pair so, either conclusion I

or II follows.
(@ X>B=S>K<I<M<C
Conclusion: I. X>B=S>K
K<X(True)
Conclusion: [I. B=S>K <I
B> I (False)
So, only conclusion I follows.
(@ E<O<K=S>A>P>T
Conclusion: 1. K=S>A>P>T
T <K (True)
Conclusion: L E<O<K=S>A
E <A(False)
So, only conclusion I follows.
(d G<B=H<C=D>S>T
Conclusion: I. B=H<C=D2>S
S > B (False)

268.

Sol.
269.

270.

Sol.
271.

272.

273.

274.

Sol.
275.

276.

2717.

Conclusion: . GKB=H<C=D2>S>T
G> T (False)
So, neither conclusion I nor II follows.

@@ J=0=T>E>K>G>P
Conclusion: . O=T>2E>K2>G
G<O(True)
Conclusion: II.J>O0=T>E>K
J>K (False)
So, only conclusion I follows.
(269-270):
(d) None follows
X<C=N<Qgivesonly X<QsoX<Q false
X <C=N<Q>ASorelation between A and X cant be
determined.
K>X<C=N soN<Kisfalse
(d) OnlyI either II or III follows
W<U<A=TsoT>Wistrue
A=T2>2V2>S soA=S and S <A is a complementary
pairs so, either II and III follows
(271-274):
(@ Q<R<M=L>W<V>Z
I Q<R<M=L L>Q (True)
. R<M=L>W W>R (False)
(b) P>Q>D=F<R<S
L Q>D=F<R Q>R (False)
. D=F<R<S D<S (True)
(¢) A=E>H>C<S<B
I. A=E>H=>C (C<A)
either conclusion I or II follows.
II. A=E>H=>C (A=C)
(d Y=N=0>P<R>T
L Y>=N=0>P<R R<Y (False)
. N=O>P<R N<R (False)
(275-277):
@ G=F<C=D<E
L G<E (True)
A>B<C>F=G>H
. A>H (False)
d) V=U<T>S
L V>S (False)
B<V=U<T<H
. B<H (False)
(b) O>Y>T<G
L G>Y (False)
Q>T>R=A
I A<Q (True)



